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Model Question Paper (Preliminary Examination) for revised syllabus pertaining
to the recruitment to the posts included in Combined Civil Services
Examination -1II / II A (Group - II/II A Services) (Hosted on 01.11.2019)

eGEglaambs Gymoluafsegnéstars Csire) - II / II A (Ozr@s)- II / II A uenflsdr) - Qe
wsad peows GCsrallpsrer wmpflumwsstiui,  umnsSlLsslnsrer  wrglfl  allamzner
(01112019 Syeigy uFICauppd AL LF)

1. What are the characteristics of “rote learning” ?

(i) Does not allow the learner to associate himself / herself with

the surroundings.
(ii) Infuses rigidity in the thinking process.

(iii) Allows the learner to dynamically adapt to the changes in the
surroundings.

(iv) Improves the questioning ability.

[A] (i) only [B] (i) only
[C] (i), (ii) and (iv) only [D] (i) and (ii) only

Qurmenamyoed sHns@Mu uarludyser wrame ?
(i) spuan saamaré anyluerer GLRCANH @EHEElmanhg CFwaLL
T MEANTEA
(i) dBglégh apuled @nésorar sambeaw oL L@sssIng.
(i) spueers gPBl@asCaiu Q5T 25Causwrss saraman wrHils
Qanarer HYesl&8Ing).
(iv) Gaerall Csl@ Spmer gig)afs8ng).

[A] (i) wLED [BI (i) wlEwb
[C] (i), (i) opged (iv) wC@D  [D] (i) whgd (i) wED
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2. Which one of the following is the best anti-dote to superstitious
beliefs ?

[A] Scientific Knowledge.
[B] Scientific temper.

[C] Untested and un-proven knowledge.

[D] Strong faith in the long held ideas.

Naamauaapdled pr pollsmssmssna s afluwrer asly wmbs g ?
[A]l  gflaflwe Syfley.
[B] Synflaflwe weriunsie.
[C] guase elupgsiuing vy Pellésiuns Smay.

[D] pewL srewrs @mHs @b aarartsede Bsrer FuLéms.

3. What are the characteristics of “"Scientific temper” ?
(i)  Questioning others’ ideas irrespective of their social position.
(i) Analyzing others’ opinions.
(iii)  Applying logic.

(iv) In view of others’ social position, accepting their ideas without

questioning or analyzing them.

[A] (i) and (ii) only [B] (ii) and (iii) only

[C] (iv) only [D] (i), (ii) and (iii) only
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Iiflaflued weariumkigler uaLlwedyser wrene ?

() wppansalar smsgssmar Jeaufsallar saps Bl
QurBLu@ssmoed Caerallsgarernsseug).

(i) wppansaiear smsgssmer ugLumie Galeg).
(i) sréasms LWaTLHSS 6.
(iv) vppefsdlear smsgssmar Jeafsallar saps plaeula snyarons
Gaarall CaLamogip, LUELUMe) Qelwumdyb gomsé Caneaag.
[A] (i) wpgw (i) LLED [B] (i) womwb (i) wLEwb
[C] (iv) WLLEW [D] (i), (ii) wpmd (iii) LLED

4. The reason behind the spectacular brilliance of diamonds and
twinkling of stars is:

[A] Total internal reflection [B] Total external reflection

[C] Partial reflection [D] None of the above

e sarmars say Agraliuzpew, elamniasda Wlaaausign smyer :

[Al  ww s aglQprafliy. [B] @ uyp eglGyrefliy.
[C] u@Es) agl@ynefliy. [D]  Cupslu aamaub Gaome.
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5. Assertion(A): Some sea turtles (loggerhead turtles) return to their birth

beach many decades after they were born to nest and lay

eggs.

Reason ( R ) : The turtles can perceive variations in magnetic parameters
of Earth which memory helps them in returning to their

homeland.
[A] (A)istrue, (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation
of (A).
[C] (A) is false (R) is true.

[D] Both (A) and (R) are true , but (R) is not the correct explanation

of (A).

apn (A): fla sLe Yawse (@rsThan sLd yeow yoa Lnhs
sLpsorCumd  ue  yearhaEmsgl  peh  abg
L upalamar.

smamb( R ) : g awaed srsagy Lpss sLpsamrawus sarLflu Uallsans
2(HULSSSD aad (papawus amswreErslapear. Qb
Syambser uaGan QLrsdle smhslymaeamwamu 5lmaalld
Qarai@nd SO oamLwme. Qg J@ma FTWEEHIES
SELYASHE 2568108

[Al  (A) &1fl, speormeb (R) euy.
[B]  (A) wpgud (R) @rawr@id &fl, Goewid (R) etettugy) (A) all@

sfluner aflandswn@L.
[C] (A) sau, speomed (R) &1l

[D]  (A) vpg (R) @ram@id &, gyeummed (R) eteotug (A) allh@ sflwrer

NGETI
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6. If a single nail pricks our body, it is very painful. How it is
possible for the people to lie down on a bed of nails and still

remain unhurt ?
[A] Because the area of contact is the same.

[B] Because the area of contact is less.

[C] Because the area of contact is more.

[D] None of the above.
fn gyl pog eLmed gaasgw Cury adlawu eariglGCpmd. g amed fon
@il ufémaule LRSSTYL JJaTEEHEES THsL LTSILLD gHupaugdmaby
- erliug?

[A] gOemafle ygar Ggnh LTy swLbd.

[B] gQemafle) Qygar Ggnh Lriy Gampey.

[C] gOerafley Qygar Qarh Ly glsL.

[D] Cupsamlu ageslome.

7. When you go for a ride in a merry-go-round in amusement
parks, you will experience an outward pull as merry-go-round

rotates about the vertical axis. The reason for this is :
[A] Centrifugal force [B] = Centripetal force
[C] Straight line force [D] Circular force

QurgCursel yrsmafld @oL @riligadsled spmwéurg, @i @rmiig.erd
en Oengssy SyFmsuupd] spa Curg, smd en CaefCrrédlu Fasulla
ghupL Quelimsamu oarrglCprd. HFHarer sTyawd ag ?

[A]  eovw alwég aflams [B] aww Cprég aflans
[C] CpiCGar @ allans [D] &pnd allans
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. The element which is a constituent of chlorophyll and gives

green colour to the leaf of plant is :
[A] Sodium [B] Copper

[C] Potassium [D] Magnesium

sraurdgler Qenasdar uFms plpwrs Q@UUSHGS STramLIE, FTATSF6
uEmsusEled odrer 2 Cansw :

[A]  Gemgwid [B]  gmdlywd
[C] OuriLrélww [D] Ousaélww

. Silver metal is a white lustrous metal. Over a period of time

silver articles becomes black - Why ?

[A] Carbon dioxide gas in atmosphere reacts with silver to form a
black coating.

[B] Hydrogen sulphide gas preserved in atmosphere reacts with
silver to form a black coating.

[C] Silver reacts with moisture to form black coating.

[D] Silver reacts with nitrogen to form silver nitride, which is black.

Qaurafl, @@ qefl@d OQauramwwura eCorswrgb, gyeard prisd Osdes
Qsave, Qauaraflufler Flp sEHUUNS LIPS Far ?

[A]l  Qeueref], aieflvemr_ggle) e arer sniLan el Iy sms(R)
amyejLer allmaryfbg), smuy Blpwors wrygpsg.

[B] Qauerafl, auaflvairagsle o6ar ez plyger sdeU@ eumyeyar
allneryfBgl, s®mUY Blpwors wnEpg.

[C] Qauerafl, smhmled 2.drer mriussgLar aflameryflbg, s
Blpwors wrmslng.

[D]  Qevarefl, aueflwaiievggle 2.drer enpLlygayLer Campg Geudrarfl
apLerLrs b, sGLUY Blnsamss &Halang.
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10. Which of the antibody that provides early diagnosis of Dengue
and the virus which causes Dengue is called :

[A] IgM and Flavivirius [B] I4G and Flavivirius

[C] IgM and Togavirius [D] IgM and Alphavirius
Spssar_apper Ogrnés pleauGatu QLEgalmams saflu 2
aglmiQurmar whgw CLrGallamer 2 ar_ré@w amared eg?

[A] 1M wpmyd dlemrall eneurad [B] I,Guppwd Nemell evaured

[C] IgM womb CLrer eeurad [D] IgM wpmb Sedur eearay

11. Under which category Pencillium does come ?
[A] Algae [B] Fungus

[C] Protozoa [D] Bacteria

Spssar_apmer Quarflaflub aps aumsmus smpsz ?
[A]  unélaa [B] yeems
[C] @@ Qe 2ufif] [D] uréefwn

12. Which disease is transmitted through saliva and respiratory

droplets
[A] Mumps [B] Measles
[C] Flu [D] Small pox

aps Comunergl e Wlpii whgd sars frsg e safleamsd Lredlpg 2
[A] QurerayéeE eirig) [B] sLLibenio

[C] -l [D] #leanendenio
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13. Which one of the following is considered as Chemical messengers.

[A] Enzymes [B] Vitamins

[C] Minerals [D] Hormones
Spsanaumasad Caglulud Qsiglsma @l mTsass sHSILOS Tg?

[A] Qprglsen [B] eaLLdlase

[C] Wlarpaser [D]  aprjCunarsan

14. Imagine the following hypothetical situation:

(i) Putting together all the plants of the plant kingdom on the Earth.

(ii) Putting together all the animals of the animal kingdom on the
Earth.
Thereafter weighing (i) and (ii) separately
[A] (i) and (ii) are of same weight.
[B] (i) is heavier than (ii)
[C] (ii) is heavier than (i)
[D] None of the above

Netaumn spuamenurer gunlaa @lég fbglésew
(i) gulufle eerer sreursEhLUSSla Jymardgd SrauTtsmenyd eanras Carss
Casaid.
(i) glufle eetar allokigs @Hvussla Joarss aloRgsmayd @anrss
GCess Geuamm(Ld.

Neranit (i) wpyid (i) Y slwapmlar aasmas saflssalCu sarssl(n durs :
[A] (i) wpmwd (i) Y Grav@n @ty am_ullmeard O&maiyHéELD.
[B] (i) @ arenL (ii) Qe erananw aflL yglsw0M8 Q(MHEESLD.
[C] (i) @ar aranL (i) Qar arenLanwallL Hygswrs QEHéEL0.
[D] CupsaiL aamaub Gaoame.
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15. The largest reservoir of phosphorous in the biosphere is
[A] Atmosphere [B] Rock
[C] Ocean [D] Animal body
Spssar_amasasd Quimsuled urebuyed arE gls Jeralled srariu@alpg ?

[A] aueflwerewd [B] umenn

[C] &sL& [D] allor@salar 2L

16) Recently we read in newspapers about the GM crops. What is the full
form of GM ?

[A] Genetically Marketed.

[B] Genetically Modified.

[C] Green and Moisturous.

[D] Globally Marketed.

Sarowuia pnd Asugls srasefled GM uuljser Gflsg LrsZHUCLND.
GM aarugar alliflandsid eraian?

[A]  wruay F8luns sHmELLEHSESD.

[B] ruay WIHHLILLL

[C] u&eL WHMLD FFLD.

[D] ewsarallu shmsliLbss5e.

17) The Nobel Prize (2019) for Economics has been awarded to
Dr. Abhijit Banerjee and two others for their experimental approach
to:
[A] Eradicate black money.
[B] Strengthen the International Monetary Fund (IMF).
[C] Eradicate gender bias at work place.

[D] Alleviate global poverty.
www.mntfreeias.com
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2019 -gyib yairgear Qunmerngnysslnanar Crrue ufla Dr. gl unanyg)
LHnd Qoanse Sefsag aps Csraumiey JymGuapulea Qur®LE

QUPESLILLLG?

[A]  sgiyl uem quiliy.

[B] uaramml@ uam FlEludms aiiCup Cauwse.

[C] Caeae Qeuiyd Gmseld urdlar utguraL ufsse.
[D] ewsarallu agembaw LLAIURSESE.

18. The Tamil film “"Asuran” is based on the acclaimed novel “Vekkai”.

The author of the novel “Vekkai” is :

[A] Su. Venkatesan
[B] Konangi

[C] Poomani

[D] Choodamani

s\bé eyl LLLrar 'Sarar YsPOLDY 'Qausms ' e ysasms
SlglLoLwunss QsrarLsn@h. Qasms ' aab yslasglar o Afluy :

[A] & QamsCLaar

[B] Csrearma)
[C] ywenf
[D]  @Lmwenf

19. The telephone number allotted for 24 hour "Women Helpline” in
Tamil Nadu for immediate and Emergency response to women
affected by violence is :

[A] 108
[B] 181
[C] 888
[D] 208

www.mntfreeias.com
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SUPHT I ecipenpwred LNSlEsLILEL COuesEnég 24 wenll CErwd 2L ey Jeusy
esall apiis ayfl ams Qelyw Asraatud esally SILsslpars ggésILL e
QzrenaGu#] e :

[A]
[B]
[C]
[D]

108
181
888
208

According to "The Sexual Harassment of Women at workplace
(Prevention, Prohibition and Redressal) Act 2013", sexual
harassment includes :

(i)  Physical contact
(i) Making sexually coloured remarks

(iiif) Demanding sexual favours

(iv) Showing pornography

Which of the above is/are true?

[A] (i) only

[B] (i) and (ii) only

[C] (ii) and (iii) only

[D] All the above

ualll_tsefled QuairsEnée aglyrer Lrellud Feymsssd ( SEOY, s wHyb Siey)
FLLD 2013-@air L. uneflued gleysse ey QFned o arersalug)

(i) 2Lo@f OgTHge
(i) gursd sabs raLLiGués
(i) ureflued Coemeusanar BlenpCeupn audLimISs)se

(iv) Qursl LLEsmaE STL(\g6
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Cupsmapmer slurag/ma ag/amea ?

[A] (i) LL@D

[B] (i) LHmID (ii) LG

[C] (i) LHMILD (iii) WL GLD

[D] GCm&ami! Si6063T&HGILD

Which one of the following is not the aim of 'Digital India’ ?
[A] Paperless governance

[B] Person less governance

[C] Encouraging intermediaries

[D] Cashless governance

Spsar_apgd g tdllLe @glur-aflar Cpréan ea?
[A] &n8l51D @aars I EhHms.

[B] waflzTaer Qaang Iy @mams.

[C] @eLgsrsiaemen 2as@allsse.

[D] uamsldang oy EHems.

The port of India which has quick access to Suez Canal is :

[A] Mumbai
[B] Kochi

[C] Chennai
[D] Kolkata

www.mntfreeias.com
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gwad stdarawu Gopps Corsslad QeapaLwyn plaould Hymobgeda QHglwus

gmpWsL agl?
(A)  (puenu
(B) Q&rgé
(C) Qserener
(D) Qaraagsm

23) Which State is called the “Fruit Bowl” ?

(A)
(B)
(©)
(D)

Punjab
Himachal Pradesh
Meghalaya

Karnataka

abs LIl “Uwé SlaTamd” aa JampdsLiLpang?

(A)
(B)
(®)
(D)

Lgh&mLl

@Qurssall UyGCsaw
Guarewnm

SIBIL&N

24) Under which category of roads does the Zojila-Kargil road of India fall?

(A)
(B)
(©)
(D)

National Highway
International Highway
Border Road

State Highway

@iglunalle e drer GCengllan - srigle srane aufiflmas snmbsg 2

(A)
(B)
(®)
(D)

Caélu ApQEaTama
uaramm () Gp @ eherana
TRMALLDE FTNQ
orEle GBGEsrame

www.mntfreeias.com
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25) " Rupay Card services ” were launched by :

(A) National Payments Corporation of India.
(B) Reserve Bank of India.

(C) NITI Aayog.

(D) None of the above.

" 6L Lo Cemeuser ” wrpme) QSTLESILLLE ?

(A)  @islu Cadlu Oequsgse spa0.
(B) @nslu Meral aumid).

(C) B8 g,6wné.
(D) Cupamlu amaslodama.

26) Which of the following is incorrectly paired ?

(A) NEFT - National Electronic Funds Transfer.
(B) IFSC - Indian Financial System Code.

(C) RTGS - Real Time Gross Settlement System.
(D) ECS - Emergency Clearing System.
SpsarLapfle ag saprsl QurGSsULLReeg 2

(A) NEFT - Ggélu Wleanaray plgl uflwrhpib.

(B) IFSC - @pglu plg) Sy@ioiys GHE.

(C) RTGS - 2airenw Ghy Qrgss Sieus gjaniliLjse.
(D) ECS - Sjausr &1 Sreis pen.

27) Who was the Chairman of Indian Space Research Organisation
(ISRO) at the time of launch of Chandrayan-I ?

(A) Dr. Mayilsamy Annadurai
(B) Dr. K. Sivan

(C) Dr. G. Madhavan Nair
(D) Dr. K. Radhakrishnan

www.mntfreeias.com
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shglprwar-1 aflaveniley gauiulL Gurg @bglw allartleuell g rmisds swssslear
OIS QMmBbSaT wriy?
(A)  pevaraui wufledems) gyamamrgany
(B) (paneneulr Ga. &leuet
(C) (evarau o) . wrHeuar Frwl

(D) (evareur Ca. yrgng)medamei

With which of the following is Arunachalam Muruganantham, an

Inventor and Social Entrepreneur associated with ?

(A) Low cost electrical motor vehicle.
(B) Non-stop water motor.
(C) Low cost sanitary napkin.

(D) Highly efficient solar batteries.

sarpUlqlurai@m, Fepas QAsmfle yaaCanmora — JHamTEFAD (WHETAHSLD
aeruai e aaupper Qgriem e ?

(A)  @onhs aflae Wlersn anserd
(B) QaLallLiod 57 Gans@ Gubslzw
(C) ©onbs allae aflLmissne IyemearureamL

(D) euwjglper Gflw Wleasamser

The Union Government is making efforts to connect the
unconnected parts of the country. What is the name of the airport
opened at Sikkim in the year 2018 as a part of such efforts?

(A) Bagdogra

(B) Pakyong

(C) Hubli

(D) Belagavi

www.mntfreeias.com
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Bhaar grs Bgamy Q@aEsLLLTS BILge LGZsme Gaariugjsner

pwpdlaear Cupbsraramelpg. ssmeu @@ pamsmasuns 2018 b @6
flagldle glpssiiucL eflorer Flenawsgler Quuwir ereiren?

(A) ursGLrépn
(B) unsGums
(C) apLiafl

(D) Ouestai

30) The “"Green-Gold” Mission of Government of India is associated with

the promotion of which one of the following?

[A] Herbal Plants

[B] Green Vegetables
[C] Bamboo

[D] Green Corps

Spssar_appd  @bglu - yrélen "Lsmss g,r.r;mb' agib  SILLD  agmen
Cowupsgauger Qs iyemLwug?

[A]l  apdllensd sraunEser

[B] uém&s smisplaan

[C] @prgled

[D] usewl uwliger

31) In human races, which race is said to constitute “"white people” ?
[A] Australoid Race
[B] Caucasoid Race
[C] Mongoloid Race

[D] Negroid Race

www.mntfreeias.com
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walls Qamisale aps Gard 'Qaudimauisd’ aaLaismas Qsnei.msaps?

[A]  Sevlpremni@) @er
[B] &r&snif) @ard
[C] wrRCsTOMIE) @arbd

[D] paéymip Gemd

32) The largest tribal group in India is :
[A] Nagas
[B] Todas
[C] Santhals
[D] Gonds

@igluraller sl Quilu LGy Qend :

[A] Br&T&er
[B] CarLisen
[C] s&Mhges&aT

[D] Ganeur(paar

33) Identify the place in Tamil Nadu where Mangrove forest is
absent :

A) Pitchavaram
B) Kodiakkarai
C) Vedaranyam

D) Mamallapuram

www.mntfreeias.com
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SUPBILRe sgiLFRE sTsH JYMOLIALDTS GLEMS J@LWILD Erais:

A)  Ulésmaurd
B) Gamgusseny
C)  Geaugremrud

D)  wrweeyfrw

34) Which of the following is responsible for the continental
climate of North India ?

A) Vertical rays from the Sun.
B) Slanting rays from the Sun.
O Its location away from seas.

D) Its location on the plains.

aL @bglurelled Hlaawn saiL sraplaasg SpsaiL g sSMyemors
2 erang|?

A)  gfluallLdlmhg Qerngss 887 eléa

B) @AualLdimpg sniesasjalss

C) sLaosamaalll () allogl yamwhgeda @sar IemwallLb

D)  anQeaflser Warar @6 SjamwallLLd

35) The fast flowing river mouths have this landform :

A) Delta

B) Estuary

O) Alluvial Fan
D) Meander

www.mntfreeias.com
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Gas Wgglyer unyd oné sflysiugslsd @splas Conposslmars
Q&remr(ereren :
[A] @LeLm
[B] QU@L s
[C] aarLa allflgemp
[D] Qpeflwrmy

With which of the following countries does India share the
longest border ?

[A] Myanmar
[B] Bangladesh
[C] Pakistan
[D] Nepal

SpsaiL aps HriGLer @bglur s Berorer adeamull uglihy Qstdalng ?

[A] Blureriof
[B] aumaner G5
[C] unglebgnan

[D] Gpumenid

Where does the river Kaveri break into two channels viz.
Coleroon and Kaveri ?

[A] Mukkombu

[B] Thiruverumbur
[C] Thiruvanaikkaval
[D] Thuraiyur

www.mntfreeias.com
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sréaifl g n aug Aardefl wppw séar aa Qrar® Sflesems Nf&lpg?

[A]  p&Qamby
[B] 8lmOaumbuyr

[C] glmaunamandaneuc
[D] glemmui

38) The new entity after the merger of Air India and Indian
Airlines is called :

[A] National Aviation Company Ltd.,
[B] National Aviation Corporation of India Ltd.,
[C] National Airways Company Ltd.,

[D] Indian Airways Corporation.

g @bslur whpd PbZluer gimaeded FlpaaEsma Yaarss LsNE

@GRS marEsLILLL Blpeand :
A)  Gsdlu aflwrer) Curé@aursdg Blmeuard

B

—

@iglu Caélu allorar Curs@eargd spsL.
C) Gsélu amaadll Curé@earsg Blneanb.
D) @islu anereufld spa0.

39) Which of the following statement/s is/are true in respect of
Solar Eclipse :

(i) It occurs on New Moon days, when the moon is between the Sun and
the Earth. Thus, the Moon obscures a part of the Sun viewed from the
Earth.

(i) It occurs when the mythological ‘Rahu’ swallows the Sun.

[A] (i) only
[B] (ii) only.
[C] Both (i) and (ii)

[D] None of the above. i
www.mntfreeias.com
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§Cy Qan@ésiuL aerapyer Gflu drapemd Ogr_jurer sflurer sy / sshpser
gl erana?

Sjwrarasuam, Gfluasen Llsgn GaLuled epglrar aumn Gung
aoplspe ghubalng. SuQurws ylllambs staun @Huafler e
L@S shglrama wapssiURSIDS.

Lyramd seanssefle aumd Qrme Gflumen alYhGaustd gHupang.

[A] (i) L QL.

[B] (ii) LLEL.

[C] (i), (i) &lu Qran(id

[D] Cupsflwepdle argajd Gadamae.

40) Which one of the following is not a precautionary measure that
we should take before a cyclone ?

A)
B)
C)

D)

Going to high-lying areas from low-lying areas.
Jewels and documents to be kept in safe custody.
Those residing in old buildings should remain there.

Battery-operated radio, torch lights, lamps, kerosene,
match box should be kept safely for use.

8Cp QarpésliLl (ereraupger oyl Lwed aimausn e Hrd CopGserer Couemr.L
perQdarssfléans pLasms Godma?

[A] smpeurer ugglWllmbg 2 wieuner LGSE@E Cadeug).

[B] pansaer whmd Spearmsmar ungasriuner QLsgled amagze.

[C] uepw &gl $81e audliuaiser HECECL sralullmsse.

[D] Blarsassned Qurg artaned, msdlaallase, alleaé@aser, elameren e,

SUOULy g dluapanl uwuauhsgause AUIGLE LTFSMILTS Mmaudse.
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41. Identify the metal which was used to make the dancing girl
figurine of Harappan culture in Indus Valley civilization from
the list given below ?

[A] Bronze [B] Brass
[C] Gold [D] Iron

fibg sl praflasgler appuum LerLm ige Briigwl Quer o e
Qumbenwwrarg), £6 Aarhasiul(arer aps 2 Carassmad CawiuLg ?

[A]  Qeuamraeld [B] Ugzemer
[C] Qunen [D] QoY

42. Why is India called an ™ Ethnological Museum ” ?

[A] People of India belong to different genetic race.

[B] People of India speak different languages.
[C] India has different land forms.

[D] People of India follow different religious.
Anglur “@earallued ymRSTLAWUSDL” aar gar JYapaslLpapg ?

[A] @pglunsdr QeaciCouny @andeanss enihseunaar.

[B] @bsluiser GeuaiCouy Qumlsanars Cuaslampan.

[C] @Bslur QeciCeauny Bl Syenwliysamars Qamam(erang).
[D] @bsluisar QeuciGouy wamaemars Ularnmelamner.
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43. Which among the following was the most important source of

subsistence for the Harappans ?

[A] Agriculture [B] Pottery

[C] Craft producation [D] Trade

Neraumaaappe g apriun pay wésalear Uepidlpe Wls wssu
Comppeuruns eflerialug ?

[A]  afleugmuid [B] wlureiLmisdr 2 HLss)

[C] sellmea QurgLsd 2pussl  [D] afsssn

44. In the ‘Darasuram’ temple built by Rajaraja-II, incidents from
which one of the following literatures are depicted in the form of

miniatures in the walls of its sanctum sanctorum ?

[A] Kambaramayanam [B] Mahabharatham
[C] Periyapuranam [D] Kandhapuranam

@rairmd Qyrgrng Gempemme sl LOulL grprapd Camdlefler smaumps seupfle
Spsanayd aps Qasslusslar plapasd GpeHPuniseams augss0uL Oeaarer. ?

[A] &wuUFTLTWETLD [B] w&rurrsL

[C] Quiluygremid [D]  sBsLrmamLd

www.mntfreeias.com
23 of 120



www.mntfreeias.com

45. Which factor/s led to the emergence of towns in the Gangetic
plains ?

(i)  Agricultural surplus

(i)  Growth of crafts.
(iii) Growth of trade.

(iv) Growing population.

[A] (i) only [B] (i) and (ii) only
[C] (ii) and (iii) only [D] Allthe above.

suamss sbaelufled paymsd Csmerp asrrumrmmgj/mm Grgj/crmm ?
(i)  Geuermewr 2
(i) eas@smflaseller aueryss]
(i)  euanflaggler aueriés)
(iv) QuEssQaraigmss vése Osrms
[A] (i) wLl@w [B] (i) womw (i) wLp

[C] (i) wpmd (iii)  wLED [D] CuCewserar SjenarsgLb
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46. Jaina influence is strong in early Tamil literature. Which one of

the following is not a jaina work ?

[A] Naaladiyar [B] Pazhamozhi

[C] Jivakachinthamani [D] Manimekalai

uprstg 5P Gasslussle swar sousslar STEsD aQans 2. dag).
Spssar_apged soar Qasslud Jdasrg g ?

[A] Braguwmy [B] wLypQumg]

[C] é&aus £lbgmoent] [D] weafGusame

47. Which one of the following is not correct about Buddha ?
[A] He did not mention about God.
[B] His teachings are full of descriptions about God.
[C] He did not accept inequality based on one’s birth.

[D] He neither accepted nor denied the existence of God.

Spésar_apyd ysserd upflu seprer spny g ?
[A] g sLayemert upr) @fludiialldene.

[B] SjaumenLw GCUrgeneanser Jyenardgid sLayeners Lipmlw
QU(HETEN NS N6 (65T 6Tia. (5 S ar.

[C] poder ggliueiuflarer sowpn wepew Iyeul
ghm&0snearalldena.

[D] Sjaui sLeyaflar @mlenn ghnséesnerara)slodame
nsssa)ldma.
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48. The rock cut shrines at Ellora and Elephanta belong to the period of

[A] Rashtrakutas [B] Palas

[C] Sathavahanas [D] Chalukyas

aaGemr wpgw adlduaiLr goaLauars GCarllasd aaumamLL sTOsmsE

snjhgena ?
[A] b ranL e [B] ureser
[C] srsaunaanjsar [D] sn@né8luisan

49. Who built the world famous " khajuraho ” temples ?
[A] Chalukyas
[B] Chandelas of Bundelkhand.
[C] Rashtrakutas

[D] Bahmini Sultans

2.5l Uaspaupp 'seermCapn ' Canallwsmers sLwaifser wni 2

[A]  en@néalwiser
[B] upCseaamil s5Cseisen
[C] prebigranLfser

[D] umdlafl segnenaer
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50. To which period the great literary works of ' Kamba Ramayanam”

and “ Periyapuranam ” belong ?
[A] Chalukyas [B] Vijayanagar Empire

[C] Later Cholas [D] Pandyas

Qua Gesdlull uaLiysemer ‘sbugmomnued' wHHL ‘Aufluyyrerd ' o dluea
ThE STVSLLEMEE FTHSamau?

[A] &nenéalwuiae [B] eflgwpard Cupys

[C] Upsras Ganprae [D] unemrgwisar

51. Who hailed the Pandiyan kingdom as the richest and the most

splendid province in the world ?

[A] Ibn Battuta [B] Marcopolo

[C] Hiuen-Tsang [D] Fa-Hien

uremgw 9rs easlCatu Wasaw Cdad QsifluyLgb, JPLswner HPELab
STemiIL@L UGS eranl LSpITD GLigwef wmy?

[A] @ufar ul@n [B] wri&CaemCurCan

[C] weurar Geunm [D]  uremlwnen
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52. Which one of the following Governors of Madras presidency gave

53.

attention to education and regarded any expenditure on it as ar
investment for whom a statue was erected at Chennai in 1839 by
public subscription ?

[A] John Erskine [B] James Thompson

[C] Thomas Manro [D] Arthur Havelock

Spssragd Qseianer wrataw o Erpiaelled sdallég @islusgan IyelssgLer
ogpaner Qeeaflamsmer wsdLres smIlu emarfla Paeaarsl Qurgwésed
aprslu pglows Csrar® 1939-gb Yarh Osaamaule flaw FlpaiucLy ?
Sjeul wmiy?

[A]l sonar erfavalan [B] Cgued smbLiavel
[C] smwebd warGpn [D]  &yisF Capelens
Use of animal forms in pilasters and columns including rampant

horses and leogryphs give a distinctive character to which one of the
following architecture ?

[A] The Dravidian style.
[B] The Bundalkhand style.
[C] The Orissan style.

[D] The Harappan style.
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sgrsgnanaed, &f aybd @glarsda wpgw wndlsd pEluapfler warT@ Spssram

abs fjussma papsg seallsgaorer samvan aptGSIng ?

[A] glprallL penp
[B] ubCaaaami (panp
[C] @flavent (pany
[D] apruuér (e

54. (i) The sound system in this language is rich in retroflex

components.
(ii) Its varied vowels distinguish it from other languages.

Which language system is described in the above statements ?

[A] Dravidian languages.
[B] Pali language.

[C] Prakrit language.

[D] Sanskrit language.

(i) @ig Qumflullgerer @all Senwiifle) aumarprOaralls sapser WlEglurass
snamliu(&) epar.

(i) @ser uaCauy amstiulL eulQyusgsse Up Qurdlselldlnis Qms
Capu@sslé s @alemer.

Copsadlu sappsd aps Qundlowul upd allafsslaper ?
[A] glpmafl Guomgdlser
[B] urefl Gumy]
[C] Npr&)ms Quomy)
[D] sweabglHs Qumg)
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55. Assertion [A] : Majority of people developed interest in Bhakti

literature.

Reason [R] : Bhakti Saints composed their verses in the language

best understood by the people whom they taught.

(A) [A]is true, but [R] is false.
(B) Both [A] & [R] are true; and [R] is the correct explanation of [A].
(C) [A]is false, but [R] is true.

(D) Both [A] and [R] are true, but [R] is not the correct explanation of
[A].

apn (A) 1 Quuarflutar wésa ussl Gesdlunsdled Bstar Y Tusms
QueTT& 8|0l enLen.
smpemd (R):  ussl Quéss gnallsd, smoreflu wasellar QuruNCaCL sRs6

ur_asaer @uniflamisar.

[A] (A) &fl. gpama (R) saugy.
[B] (A) whmwd (R) gpalu @rew@n &fl wpmd (R) eaug (A)-allpg sflunar
afleré&LnEL.
[C] (A)gaum. pamed (R) &
[D] (A) whgd (R) g &lu Gram@n &fl. spamad (R) aerugl (A)-allpg sflurar afleréswaa.
56. Why do we need Constitution ?

(i) To restrict the exercise of power by the Modern State.
(il) To get membership in the United Nations Organisation.

(iii) To check the tyranny of majoritarianism.

From the above, select the correct answer :

[A] (i) and (ii) only
[B] (ii) only
[C] (i) and (iii) only

[D] (iii) only
www.mntfreeias.com
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B&EG gar JyrFluaemwliys s L aeap gap CsmaLupapg ?

(i)
(ii)

paler Syréler sy aupbysmer sLOSG maés.
o8l prhsear Hemeauled e glifeamns.

(ii) Quewurerawarsssla CarQrCsramwaus 5H&s

[A] (i) wpgd (i) LLED
[B] (ii) L@
[C] (i) womwb (i) LD
[D] (iii) wLE.

57) Which article makes special provisions for the State of Nagaland ?

[A]
[B]
[C]
[D]

Article 371-A

Article 371-B

Article 371-C

Article 371-D

Srflue srsasglar apsl Uifley preonsg wiplesslie HAoliyE Feassemer

PEESng ?
(A) fley 371-A
(B) Wifley 371-B
(C) Wifley 371-C
(D) Wfley 371-D

58) By which amendment the Tamil Nadu Reservation Act of 1994 was
included in the 9" Schedule of the Constitution of India ?

(A)
(B)
(9
(D)

76" Amendment
78™" Amendment
77" Amendment

79" Amendment
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50108 QLegsdl (& s L - 1994 aps yréluamwliys SlHmssssla mab @Hslu
Srfluaamoliyd siLsgler eaugraug L Laumarlad CerdslilLg?
(A) 76 ag 3lHssw
(B) 78 ag 8lBssw
(C) 77 ag 3lHssw

(D) 79 ag slpsw

59) Match the following :

a) Family Courts Act 1) 1976

b) Equal Remuneration Act 2) 1987

Q) IIAr(lzcgecent Representation of Women (Prohibition) 3) 1984

d) Legal Services Authorities Act 4) 1986
a) b) C) d)

(A) 1 2 3 4

(B) 4 1 2 3

(©) 3 1 4 2

(D) 1 3 2 4

Spsar_aupapl QuTmHSEs:

a) GOWLU po BElbaNE FLLLD 1) 1976
b) &b cargluF slLLD 2) 1987
c) Quemsemerd sanns Fsfssa (FEHIL) 3) 1984
FLLLD
d) Qoas slil ueflser gy marégws sLLb. 4) 1986
ay b o d
(A) 1 2 3 4
(B) 4 1 2 3
(C) 3 1 4 2
(D) 1 3 2 4
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60) Match the following :-

a)
b)

C)

4)

(A)
(B)
(©)
(D)

86" Constitutional Amendment Act

92" Constitutional Amendment Act

76" Constitutional Amendment Act

66" Constitutional Amendment Act

AwNREY
wrRAND
ND MWD
HNI—AL&

Spésar_apepl QUIGSSS :-

d)

(A)
(B)
(9
(D)

86 augl SyrFeLULE L 8l(HSSL

92 qugl rEemLLILE sLL ZMHSSLD

16 aug QreewliyF sLL ZlmSsL

66 eugl SrELLILE F.L ZlHS5LD

A W N~ O
w = MNOT
N A b~ WO
= N = DN O

1)

2)

3)

4)

1) Made elementary education

fundamental right.

2) Included four more languages in

the 8" Schedule.
3) Included the Tamil

Reservation Act of 1994 in 9%

Schedule.

4) Included all Land reforms Acts of

States in 9" Schedule.

Qsm_éss soall OUpsD gluenL
2 flebwrésiucLg).

aiLmag  SlLeamamufled  Guogy
pren@ Qunglser CstdaliulLg).

1994 g el  HUlpHIE
BLegsd s sl  @eLFTAS
I Lamanufled CardaiulLg).

MARLE Simans gl Blog
Erg\mdss  FLLMaBEHL  @eTLSTeg)

S Laamanifla CeyssiiulLg).
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61) By which amendment the "Right to property” was removed from the
fundamental rights ?

(A) 44" Amendment
(B) 32" Amendment
(C) 43" Amendment
(D) 42" Amendment

aps  Srfluaamnlys SnssE siLslar  amflers Gsrsmyflon  SgliuaL
2 flenwuled @mHa BésrLlLg ?

(A) 44 aigl 3lHSSL
(B) 32 ag slHssw
(C) 43 ag slHsswd
(D) 42 g slHSsL

62) The idea of secularism in the Indian Constitution prevents :

(i) Domination of one religion over others.
(ii) Domination of some members on other members of the same
religion.

(i) Enforcement of any particular religion by the State.

Which statement given above is / are correct ?

[A] (i) only

[B] (ii) only

[C] (i) and (iii) only

[D] (i), (i) and (jii)
@iglu grflueewiyé sLggle giludl iul@ede wysenilaemn aeayb
aH55Nsa0 Spssarapge aaupaps 5058 ng ?

(i) @@ wsd wHN wsEsalar GCoe gy slésDd Cegszams.
(i) @Gy was8l)@a Hor wppaisd By o g)ss0 Ceqsgaums.
(i) s @@ GIUUILL wesms adlhg FoLpanl LR M.

(A) (i) wLED

(B) (i) wL @b

(C) (i) womb (iii) wLE

(D) (i), (i) wpmd (iii)
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63) Which of the British official is behind the award of “"Panchami lands” in

the then Madras Presidency ?

(A) Ash

(B) Tremancre
(C) Robert Clive
(D) Arthur Cotton

SLGurmsw Qsarmer wrstansgled 'Lgs) Plomsmer ' aPREUsHES STTamOTS
Bmps Nflneh ygeuer wry ?

(A) 2%
(B) Lifloresy
(C) pmujLl &lenereu

(D) L7587 s Len

64) Who was the Prime Minister of India when the government
implemented the recommendations of the Mandal Commission
paving way for the reservation of 27% of the posts under the
Government of India for the Other Backward Classes ?

[A] Mr. Rajiv Gandhi
[B] Mr. Moraji Desai
[C] Mr. V.P. Singh

[D] Mr. Chandrasekar

@pglu Spdler §p oater usaflaelld @sr Npu@ssiuiL agillamsg 27
allpéar® QLessdh aypbs ams Qsiybd verd guelda uflhgarsma Iyrs
QewaupszluGurg @pslurallear Slyswrrs @mpseui wrr ?

[A] 8. nedel &M58)
[B] 8. Qumyrg) Caemi
[C] 8\@. all.U).él@

[D] 8\®. &englrCesiy
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65) “"Political democracy cannot last unless there lies at the base of it
social democracy which means a way of life which recognizes

L

iberty, Equality and Fraternity as the principles of life”. Who said

this ?

(A) Pt. Jawaharlal Nehru
(B) Periyar E.V. Ramasamy
(C) Dr. B.R. Ambedkar

(D) Dr. Rajendra Prasad

“#5H3\Td, Fdgieud, sCangrsgad ydluapmp anpallda Jyuluams Car_urhsams

IuEsfEgh s gapush aayd Igssemd Geomatusd yrfud gaprusssnd

P

(A)
(B)
()
(D)

& Quarg " aad sflual wri ?

Laig . euanierd Ch
Quiflury F.Ceu. FrosmLs)
waaaj .oy HbCUsE]
weara] Trégnsly Ulyens

66. Which feature of the Indian Constitution stipulates that it shall be
the duty of every citizen of India to develop the scientific temper,

h

umanism, the spirit of inquiry and reform ?

(A) Fundamental Duties.
(B) Fundamental Rights.

(C) Directive Principles of State Policy.

(D) Preamble

Brglu

Srflunambliyd sLLFglar @by wsd gadanm @IILE  Ghbamanw

Sflaflue  wariumkE, walgCpub, YUHsHIYL Calms, LDEAIGEEN) S &l waiheny
aeryégs Qanarer Couam@ aar auallymssieng?

(A)
(B)
()
(D)

Sl LILUGLE &L enLDGET.

SlgliuaL 2 flamwaa.

Iras Qardrensullenar ApMOLESFL Camur@ser.
paayeny
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67) i) In the subjects enumerated in the “concurrent list”,

both the Union and the States can legislate.

i) In the event of contradictions between the Union and
States, the State’s authority will prevail.

Which of the above statement/s is / are true ?
A) (i) only
B) (ii) only
O Both (i) and (ii).

D) None of the above.

(a) Qurgl ulywalled @ludlLiul(erer geopser Bg LHFIW LHNYL LIFIQ HFasH
Qrem@GL L Quppemd.

(b) @5 Osriiurs wsglu YrdlhEw wrxle HrEAHED oL Gu wrarur® gHuEL
Qursg wrple yréla HglamG GCuoGammEgL.

CuCe srariu@b sppseie silures /ma oy /| doa?
(A) (i) wLLEWD
(B) (i) bW
(C) (i) wymwb (i)
(D) CupsamrL aamauslodamea.

68) Which of the following is not included in the concurrent list of the
Constitution of India ?

(A) Education
(B) Forest
(C) Police

(D) Trade Unions

www.mntfreeias.com
37 of 120



www.mntfreeias.com

Spsar@eaaraupger g QisIu Srfluemnliys slLsgla Qurgl ulipweld G
Qupalldena?

(A)  saal
(B) auand
(C) &

(D) Q@smlpsriarser

69) Who among the following headed the committee established by the
government of Tamil Nadu to analyse and provide recommendations
for restructuring the Centre - State relations ?

(A) Dr. A. Lakshmanasamy

(B) Justice P.V. Rajamannar

(C) Dr. P. Chandra Reddy

(D) Justice R.S. Sarkaria
Spsrariupuaisefld, sUlPErH Srs wiZlu wiFle epasdld wrpprsd Qg
Qsrjurs gyue Qswg, ufljgamrad aprEd uTGLp) Jyowss Gwalpe smeaw

STEEl ey wy?

A poere] g.o&wearens

®)  Balwrey U.aflprgwaremy
©) (mere LN.eBglym Qi
D) BIluysy gypi.aev.ersanflun

70) In which of the following cases, the Supreme Court of India delivered
a landmark judgement regarding the use of Article 356 of the
Constitution ?

(A) Indira Sahwney case.

(B) S.R. Bommai case.

(C) Minerva Mill case.

(D) Kesavanantha Bharathi case.
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Srflumewiys siLsglar fley 356-g uweau@sgeg Ostjurs 285 pIlweipd
aprdlu s paalusged anips Sy Spssrayd aps apssld aprsILLL?

(A)
(B)
(C)
(D)

71) (a)

(b)

Anslrr rGer aups@
aeb. 7. Qumbend apéE
Wlereur e aupsde
Casamanss LMTEl Q&S

Villages were classified according to size and mode of
habitation in Jain and Buddhist literature.

The religious orders founded by Buddha and Mahavira
observed highly democratic procedures in arriving at decisions.

Which of the above statements is / are true ?

(A)
(B)
(©)
(D)

(a) only.
(b) only.
Both (a) and (b).

None of the above.

(a) swamr LHYY Uss Qesslunsediad Apmimsdr yeupmlar yerey, el gglar
sarenn gy slwapylar SjgluamLuld amsiu@SsuuLar.

(b) ussr whmw wanreiyred Caripeldsiiuie sww Qs PyeaEmer o RHaugld
CubulL geapmus el papsmend saLLillssar.

CuGe srariiupb smpgsae sflurag/oa s | ama?

(A)
(B)
(9
(D)

(a) wL (L.
(b) wL(w.
(a) womw (b).

CopsearL aeawsldame.
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72) The Gram Sabha meetings are held four times in a year. Which one
of the following is not among the four dates ?

(A)
(B)
(®)
(D)

January 26
May 1
November 14

August 15

glymo Fus sl LEsd gaiblann QyarEw srdg o prislu@slapar. $6p
Qan@ésiul arereupmer gl L1d FenLOUD auFUNSSILLIS Brel erg)?

(A)
(B)
(©)
(D)

oaalfl 26
Gw 1

GeulbLi 14
QY FaL. 15

73. Recently, the State of Jammu and Kashmir was bifurcated into:

(A)
(B)
(®)
(D)

Jammu & Kashmir as State and Ladakh as Union Territory.
Ladakh as State and Jammu & Kashmir as Union Territory.

Both Jammu & Kashmir and Ladakh as States.

Both Jammu & Kashmir and Ladak as Union Territories.

Saianwoufld, gy & srldy wrFlaw @rer@ ugglsamsl NflsalulLg. e

oW & &%y wrFlowLrsab, ALTE @eaflu 9 E@masELULL UGS WLTsejLb.
QLS LrFlawrse)b, oy & sl geamflu o ErmssE UL UGSWTEE]L.
oW & 12w wHnD oLré &l Grerhd wIFloEESHMTEeL.

by & st LHNL ALTE YElu @rarEl @emlu I EHMEEELILLL
LGS &6 ayLs.
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74) i) "“Panchayat Raj” is the most important revolutionary step in the

context of governance of rural India.

ii) The foundation of “"Panchayat Raj” was laid by our first Prime
Minister Pt. Jawaharlal Nehru at Nagaur in Rajasthan.

(A)
(B)
(C)
(D)

(a)

(b)

(A)
(B)
(©)
(D)

Which of the above statement/s is / are true ?

(i) only.
(ii) only.
Both (i) and (ii).

None of the above.

eayps @pgluraller o s Gpale “LgsTuss ™ aeLg Wa
wéglworer Yrléar FLeugE@mswnGL.

prgebgrer wipleggle eerer prafla Hog @wsed Ursnr uagl pauaniamed
Com  Saufsamed  “ugstudy " Yevuflpsrar  rdgemd
SlDMWESLILILL ).

Cule srariu@b sppseio sfluras/ma ag / ama?
(i) WLEHLW.
(i) WLEHD.

(i) wHmid (ii).

CuopsairL ereeuwslame.

75) i)Individuals should receive respect and reputation on the basis of their
achievements and talents. It should not be on the basis of their social
identities.

ii) Inequalities and discriminatory practices which prevail in the society
are artificial and are known as prejudices.

Which of the above statement/s is / are true ?

(A)
(B)
(9
(D)

(i) only.
(i) only.
Both (i) and (ii).

None of the above. )
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(@) gafl puisdr smaey srTs@marser LHNYL slpewsalar Yy luamLwCatw
parogliy wpmw pHCuwert QupCaemmhb. g sws oL wnatisaflar
SigiueLufler Qmass sLng.

b)  FPsrusSld Bleaew gHpssTpeysar LHMWY  UMFULELIE  HEDL (PN
QEwphenswranenay. IiMe, 2.aT@MLEMA  JITWIS  SITATGSTE  6r(PLd
sLCuaTerRsd aar QilwiLpaaer.

Cule srariL@L sppseio sfluras/ma ag / ama?

(A) (i) wL(W.
(B) (i) WL
(C) (i) wHmw (ii).

(D) CupsaiL aamauslodma.

76. Which organization prepares the estimates on physical capital

formation ?

[A] Central Statistical Organization [B] Census Department

[C] Planning Commission [D] Finance Commission

u@LOUTHeT wasasms wIILTE Cewyn yemwliy ag?

[A] wéslu yereflullwed Blmeuand. [B] wéser Qsrenss sams0ahliLd
glenp.
[C] gliisew D] pgléew
77. Match the list I with list II and select the correct answer

using the codes given below

List I List II
(i) Monetary Policy (a) Bank rate
(ii)  Fiscal Policy (b) Margin money
(iii)  Credit Policy (c) Tax rate
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[A] i-b, ii-c, iii-a [B] i-a, ii-c, iii-b

[C] i-c, ii-a, iii-b [D] i-c, ii-b, iii-a

uligwed I whgw II-g Qurwss) 86 Qsrhésil(erer sflurer afleLaw

Caey Gawls.
UL lqwed I UL lqwed II
()  ueawé Qanatens () amg agb
(i)  mgls Qandrens (b) @ms BlenaLliemid
(iii)  sLar Canatens (c) afl all&lgi
[A] i-b, ii-c, iii-a [B] i-a, ii-c, iii-b
[C] i-c, ii-a, iii-b [D] i-c, ii-b, iii-a

78. Which is /are the objective/s of a sound “Agricultural Price
Policy”?

(i) To protect the farmers from exploitative practices of private
traders.

(i) To ensure fair prices for the produce of the farmers.

(iii) To ensure adequate and regular supply of agricultural
commodities to the wholesalers at reasonable prices.

[A] (i) only. [B] (ii) and (iii) only.
[C] (i) and (ii) only. [D] (i) and (iii) only.

agiara Caerairan eflmaé Qardmsuld @féCand/sd wrg/urama ?

(i) safllunt aeflstsellen arar_dsaile @mbg allastilamer urgamiug.

(i) ellasmnuflseafler 2pussll Qur@BLsErsE plumuorer aflme apriGams 2ns
AL )

(i) Plumuwrer allmaulld Corss aamisiseEnrse allasmull GumwLsemer
Gungorer Syerallgid, AsTLiédlunsab aptEoums 2 nsl6sizm.
[A] (i) wLELW. [B] (i) whmwbd (i) wLEWD.
[C] (i) wpmd (i) wLLED. [D] (i) wpmbd (i) wLELW.
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79. Which one of the following is a Non-banking Financial Institution ?

[A] State Bank of India [B] Central Bank
[C] Life Insurance Corporation of [D] Indian Bank
India.

Spssar_apdle s yoars B fpaen g?
[A] @pglw edCLL eurig) [B] eww auma]
[C] @Bglu e sTUSLEE Haid [D] @igluer aimia)

80. The Cash Reserve Ratio is fixed by :
[A] Reserve Bank of India [B] Canara Bank
[C] State Bank of India [D] World Bank

Qrrés @muy afl&lssems plramud CFleug):

(Al @b8lu flsiel aris) [B] &sanym cums)
[C] @pglu abLL ars) [D] 208 ams)

81. What is deflation ?

(1) Increase in the general price level.
(2) Decrease in the general price level.
(3) Stability in the general price level.
(4) Both1and3
[A] (1) only. [B] (2) only.

[C] (3) only. [D] (4) only.
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LemaurLL L erepred ereirer ?
(1) Qurg allae BLLD HFaMs50.

(2)  Qurg aflaa LLLD GoNG6.
(3) Qurg alla LLLD LIPTSHSSE.

(4) 1 whm 3.
[Al (1) wlEb. [B] (2) wlfw.
[C] (3) wLw. [D] (4) wLEb.

82. Which of the following is / are the objective/s of Monetary
Policy?
(1) Exchange rate stability.

(2) Price Stability.
(3) Full employment.

(4) Economic growth.

[A] (1) only. [B] (2) only.

[C] (2) and (4) only. [D] (1), (2), (3) and (4).
spésa_apper LansOsrarmsuar Crréaw/ Cprésmae ag /| wrama ?

(1) pleawner wrm afl&lsLb.
(2) oalloa plaadseamb.
(3)  »u Caummamiy.

(4)  Qurernany eueriaé).

[A] (1) wLED [B] (2) wL@w

[C] (2) wpgd ) wi{id [B]1 (1), (2), (3) wpmd (4)
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83. Which one of the following is not directly related to fiscal policy

of the government?
[A] Taxation.
[B] Government Expenditure.
[C] Lending Rate.
[D] Budget

80 srariupy Qamisalle aps ey yrdar Blgls CararasCur® Crygwrs
Qgr_ileensg?

[A]  arfl allgloy.

[B] Siraé Oseallamisae.
[C] &Lan allglzi.

[D]  ape-Geaed sl L.

84. Which of the following are associated with land reform measures ?

(1) Abolition of intermediaries

(2) Tenancy legislation

(3) Ceiling on land holding

(4) Co-operative Farming

Select the correct answer using the codes given below:
[A] (1) (2) and (4) only. [B] (1), (3) and (4) only
[C] (2) and (4) only [D] (1), (2), (3) and (4)

Spéser_apged flaF fiZlmss pLaksmssCan) Gsm_iymLLema dama?

(1) QeLssrarsmer @uflszam

(2)  plesé gssmas s LD

(3) ple 288 apby

(4) &LQU uarenem Geuetmamento
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80y QarRssuulpaaanddlmhg sfluraanmpd CsTH0sHEsL

[A] (1) (2) wpgd @ vl [B] (1), (3) wpmd (4) wLE
[C] (2) wpmd @) L [D] (1), (2), (3) wpmwd (4)

85. Goods and Services Tax (GST) isa:

[A] Direct Tax
[B] Wealth Tax
[C] Indirect Tax

[D] Professional Tax

sré@ wHpL Csame aufl (GST) aaiLig) :
[A]  Gpyg eul

[B] Qe aufl

[C]  wepys arfl

[D]  Qsmfled aufl

86. What would be the direct impact of simply printing more rupee
notes without focusing on other economic measures?

[A] It will lead to price rise.

[B] It will lead to price fall.

[C] It will lead to un-employment.

[D] None of the above.
Ny Qurmertgmy pLeugsmssamar GCopbardaumss s1lihad 9gls Sjarallenar
Leawgsrsemar S&syliugned ghufn Corywrer allamerey aarareurs @maeLnh?

[A]  @g aloa ginsslE iyl agsED.

[B] @3 alloa dpsflég alyl agseiwb.

[C] Bg Caae anilfdamwse ayl agsew.
[D] Copsai eeameuwsldame.
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87. Indicate the fundamental economic activities of an economy:

[A]
[B]
[C]
[D]

Production and Distribution
Production and Exchange
Production and Consumption

Production and Marketing

@® durmerngny SenwUiler Qrliuenl QurmerTsmy pLoulbmssmard
efluN@s -

[A]
[B]
[C]
[D]

2 HUSSYLD L&TeyLd

2 UGSy Lflorpnepd

2 HUSSIYLD H&TeLD

2 pusglyd spesILRSzI5

88. What is a Non-Performing Asset?

A)

B)
C)
D)

It is a loan or advance for which the principle or interest payment
remained as due for a certain definite period.

It is an individual’s asset which is not yielding adequate returns.
It is a social asset like Railways which is not performing.

It is an immovable property which cannot be sold as and when

required.

QeweuLnrF Q&rrg_’r,gj aepned ereier ?

[A] @@ sLafler Yadag werLamssler eCar yoag alCur g
warunssLuLL stesslnE Blamaullsd Gnmlug.

[B] Gurgjwrer auauris Qup Quers e saflsuflar Qersgg.

[C] QewauLrs @muylureng Curarn @@m CurgEtansg).

[D] GCsamauiu@ Gurg allps Quers en ymawuns Qsnsg.
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89. What do you know about Informal Economy in India?

[A] Informal Economy contributes to approximately 80% of the total
employment distribution and to approximately 50% of the G.D.P.

[B] Informal Economy contributes to approximately 15% of the total
employment distribution and to approximately 90% of the G.D.P.

[C] Informal Economy contributes to approximately 40% of the total
employment distribution and to approximately 25% of the G.D.P.

[D] Informal Economy contributes to 99% of the total employment
distribution and to 95% of the G.D.P.

@pglurafler wepsm Qurmernsmyd updl Belii Syfleug wng?

[A]  epangrl Qur@ertsrrdslar URisefliureang @uorss GCeimaaumiiliyL
ugljafld gné@ampw 80 aflsst_rsed @wrss sepri@) epusslule
gné@apu 50 allwséar_rsed 2 emag).

[B] enpanyrl GQungemmsnrdslar URiseflliunerg Gwrés CamaaumiiyL
ugljalled gné@apw 15 allwsaLnseyb, Cwrss e apm ) 2puszlule
gné@epu 90 afllpéamrse)b o derg.

[C] epsnyrl Qurgermsnrdslar UBsefllureang Quorss CemaaumiiiyL
uglrallad gné@apw 40 allastLrseb Quords eaprl@ ehusglufe
gné@eapw 25 allpésmnsa)d oderg.

[D] enpanyrl Qurertsmrdgler Ukisefliureng Quorss GeumaaunmiiliyL
uglyalle 99 aflésm_rseyd Qwrss eapri® ehudslulled 95
allp&anLnsayb 2 areng).

90. Putting money directly into the bank accounts of the poor through

measures like "Jan Dhan Yojana” results in :

[A] Depletion of scarce resources.

[B] Demand revival and economic growth through “multiplier
effect”.

[C] Increasing corruption.

[D] Maximising government and minimizing governance.
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“gaiga LLb” Curap pLaksmssea andors Corgurs gepsdea arids

samégsalled uarsglamas Qsuszag a5)E aflagie ?
[A] Siflsrer auethisa Gaphgl CuTusH®.

[B] Qumss allaerallar amflars Caeme e manésn whnw QurGermgmy
aenEs ghupausne.
[C] eapéd H8\aHLILSHE.

[D] 98ls Sjaraflanar JyrsmhEswWd, GonHs Iarallerar Iy Eamsyd gHURUSHE.

91. The first attempt at introducing a representative and popular

element in administration was made by:

[A] Indian Councils Act 1892

[B] Indian Councils Act 1919
[C] Government of India Act 1935

[D] Indian Councils Act 1909

pirarssgled Urglplgssea wpmw Ourg waser smbs snsamer Iiflpsn Oy
W5 pupdurs QuipiulLs FLLb :

[A] @iglué sayeddse sl 1892

[B] @iglus sejaidleser s 1919

[C] @Bglu Syremmas slLid 1935

[D] @iglus seyenéledser s L1 1909
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92. When was the flrstvt\llme that the I‘Itlah use Commonwealth”

instead of the usual “"British Empire” ?

[A] During Cabinet Mission

[B] During Simon Commission
[C] During Cripps Mission

[D] During Mount George Commission

Sudle grs apssorst Luau@ssd Nk Currs aausHEl Uglans
‘smociQeucds’ araptd Qemdena rLIOLINPS WH&r WFONEL LWELGSSWwS?

[A]  Sewésrame gngsEwallar QTS
[B] eswer @aller Qurs

[C]  &fluad grgé Gallar Qurips

[D]  weyerl orrg @wellar Gurips

93. What was the first challenge in the political sphere faced by the

“Women’s India Association” ?

[A] Right to Property [B] Right to Education

[C] Right to Re-marriage [D] Right to Vote

“@nglu Ouaisdr Jewly" IYrflud sarssled FH3155 W Fauned ag)?
[A]  Qarggiflenw [B] saal 2fled

[C] wywemrd Lyl 2flew [D] anégfenw
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94. To create a class of people “Indian in blood and colour, but
English in taste, opinion, morals and intellect” was the intention

of :

[A] T.B. Macaulay [B] Henry Vivian Derozio

[C] H.S. Olcott [D] Raja Ram Mohan Roy

“@rsssslqn Bpsslad Qbslurrse, remanuled, smSsl0, @uwssandsafled,
Sflalle g mslCouprsan Qméen @@ wisda dflellamy o mursgs
Caairn" ey Cpréasmss OaremLeu :

[A]  1.N.QwsamCa
[B] Gewerd) afleflwar QLCrrélGun
[C]  Qané. eab. gydam

[D]  @prgmpnd Corser yru
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95. Identify the reason why Mahatma Gandhi went on a fast unto
death at Poona in 1932,

[A] Failure of the Second Round Table Conference.

[B] Issue of Communal Award.

[C] Refusal of Viceroy to commute death sentence of
Chittagong Armoury raiders.

[D] Government’s refusal to release political prisoners.

1932 g b Yar() yamalld sniglugser sT@L ey e aiamallyzib
Cuopblandiars srreamd ergltlaears sarpamis.

[A]  @redLneug el Guang wrpriger Caraafl.
[B] a@uy arfl efleaw QeaflulLiulig.

[C] AlLam gusssl g o salmsliunaisE@hse allglésiiulL
orem sar_earenis yrell LrsInlg) Gonés LNsss).

[D]  Srélud amsglamen allfsma Galw o5& LYSS3.

96. (i) The British had to appease the Indian nationalists and the
outcome was the passage of the Government of India Act -
1935.

(ii) This act provided for greater power to the local governments
and the introduction of direct elections in 1937

Which of the above statement/s is/are true ?

[A] (i) only. [B] (ii) only
[C] Both (i) and (ii) [D] None of the above
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(i) udCaurserée @bdlu Csfluanglamar FHUIUESES Geuairgw
Bloo ghulLg. osear OeefliurGL 1935-g b Syamger @Hglw

STEME&EE FLLIONGLD.

(i) @slLd, oeamiél Srasense Isle Islemd  apmSluGsrp,
1937-gy1b gy aingd Crrgd Catsmaud ymlwsd Calzg).

CuCe srariu@b sppseie sfluramg/ma ag/aama?

[A] (i) wL(w. [B] (i) wL Q.
[C] (i) wHmwb (ii) [D] Cupsai aameuwsloame.

97. Birsa Munda led a revolt against the British in :

[A] Chotta -Nagpur region

[B] Ganga-Yamuna region
[C] Himalayan region

[D] North-East region

Urer perr absl ugslUllmhg QY uslCouTsmer agliszl yridl Qe
[A]  Geriin - préyi ugsllafmis
[B] smms - uyoa ugSulanHs
[C]  Qurewd ugglldmhs)
(D] aw- dlpse uedllldphs
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98. (i) Brahmo Samaj denounced polytheism, idol worship and the
faith in divine incarnations.

(i) It condemned the caste system and superstitions.

(iii) It opposed widow remarriage.

Which of the above statement/s is / are true ?

[A] (i) only. [B] (iii) only
[C] (i) and (ii) only [D] (ii) and (iii) only

(i) UNgdw swrgn, ue sLed aflur@), ema aglur@, sLeefla ausmEse
Bgrer pollsms gy sluanmp QaefliuaLwunss sar_anb Gsiiss.

(i) @a grglyen, wLpblémssd g &luanmps sar_a C5igs).

(i) Qg allsmauser LTSNS T5T653).

Cube QerdeUuLL sappseld g | erena &l)‘]u.lrrmgj/mm ?

[A]l (i) wLEw. [B] (i) wLl@uw.

[C] (i) womb (i) wLLED. [D] (i) wpmd (i) wLELWD.

99. Which battle is considered as a decisive one that dealt a severe
blow to the Marathas and the Mughal empire and thereby paved

way for the rise of the British power in India ?

[A] Second battle of Panipat
[B] Third battle of Panipat

[C] Third Anglo-Maratha War

[D] Third Carnatic War
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LITLUTsEREEL somujseéed Wlal Quflu  Casrdellow Gsr@ss
pédlusgan anipsgd, @bslwurelld YuACau s stgram ey
agssgoner Guny agl ?

[A]  @pawLmd ureflul Gunf

[B] @apmd ureflul Guny

[C]  epepmd gy mEGaw - wrmlgwl Guny

[D]  @enmd sFpIL&L Guy

(i) One of the earliest initiatives to impart modern education
among Indians was taken up by the Christian Missionaries.

(if) The Christian Missionaries provided opportunities to the
underprivileged and the marginalized sections to acquire
education. These sections were denied learning opportunities
in the traditional education system.

Which of the above statement/s is/are true ?

[A] (i) only. [B] (ii) only.
[C] Both (i) and (ii). [D] None of the above.

(i) @bslu wéseallaCu pelaré soallows sHns s CoHsmaeriuLL
Qsr_és ste pupdsalQereay Sflevge sowOUTILE GQdsamma
WerGampésULLLFTEL.

(i) glflevser swwl LFLLs Gdsa Hus5L0 w&&EHEELW, aflafliby
Bleoa wés@sgh soall upasnaTar amiismer apEEer.
Qufley wésEnéE LIy &b sdall apuled sdall sHUFHETE
2 flenwaer YSSLILLLBHSS.
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CuGa QsrealiulL spgsaleo sflurasg/ma ag/amea ?

[A]l (i) wbLEW. [B] (i) wLEuwW.
[C] (i) whmbd (i) sl [D]  Cupser aeeusloame.

101. Who was the founder of the "Madras Native Association”, which
was one of the first attempts to organize and vent grievances

against the British ?

[A] Gajula Lakshminarasu
[B] Singaravelu
[C] T.M. Nair

[D]  Potti Sriramulu

QY EEICOUTEEHES aglns wésmar @HESIMaTSS), SEEMF GMmPEMear
a@sgeriuspe CuplsrararinlL wss pupdsale geaprar Qe aandser
srsh' aayd ymwlillaa eGarsdluaf wri ?

[A]  sgear alsblpra
[B] drismCeug

[C] wg.erb.pmwf
[D]  Qumily ubrrea
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102. G.Subramaniam was one of the first leaders to use newspapers
to spread the nationalist message across a larger audience.

Which was the English newspaper founded by him ?

[A] The Mail
[B] The Indian Express

[C] The Hindu

[D] The Madras Courier

Coéluangé Qsiglsaer aflflfgulL unfaeawreaysellarCu upiyamr Celashe
waapsdled  Osuglssraamert LwAUESIIL  s@@aITEE  ZlaPHS]
glaidlpoailuw gyary. Jyard plgauliule Qeuglssrer ag?

[A] &) Quufle

[B] &) @bglwuer adavLilyad

[CT 8 Qs

[D] &) Quiprad sflwy

103. "The Pacific Coast Hindustan Association” was popularly called

as “"Ghadar Party”. “"Ghadar” is a Urdu word which means :

[A] Freedom

[B] Rebellion
[C] Devotion

[D] Victory

www.mntfreeias.com
58 of 120



www.mntfreeias.com
'LéONs NyCss @hgavsrar Qemwliy ' &5 &4 el LFQQTE ePEEILIL LS.
'sgi aad e mgE Qsndellar Qunger :

[A]  allfseaa
[B] &larfaé
[C] us&g)
[D] Qe

104. "“The time has come when the badge of honour makes our shame

glaring in their incongruous context of humiliation.”

Who said this while renouncing his knighthood immediately after

the Jallianwalla Bagh massacre ?
[A] Saifuddin Kitchlew
[B] Rabindranath Tagore
[C] Mohammed Igbal

[D] Surendranath Bannerjee

'nflurenss Gmparar Gpo Poan Camaulld Jawrassld Haamons Gis
wlifpefu ulLb Hapdpg
Paary afluGsr® grefluer anomuré ufOsrae FLbSeL6 g Irsl U LEMS
2L aiqursd FnHseu wry ?

[A]  esydar &llse)

[B] @reisglympnd snaniy

[C] @aws Qsure

[D]  &CpBalypng unanied)
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105. Which of the following statement/s is/are true about
Subhas Chandra Bose ?

(i) He was the president of the Congress.

(ii) He resigned from the post of president of the Congress
as he was isolated within the Congress.

(iii) He founded the “Forward Bloc” to function independent
of the Congress.

[A] (i) only. [B] (i) and (iii) only.
[C] (i) and (ii) only. [D] (ii) and (iii) only.

fpssnayd sppsefled sured sHZlr Gumenent upflu  Efluner
sp/sd ag [ aoa ?

() Saf smslyed sLfuflar soaants Qmban.

(i) smglred s flufled FaflwULSFILLLETD e Fag Soaeu]
ugelluflef|mig afleglem.

(i) srEdlyad sLAulo\@mHs salsss Qswaun QurGL urfai@
erns' ereyid s Aewws QFrridarmy.

[A] (i) wL(w. [B] (i) whmw (iii) wlEw.

[C] (i) wpmd (i) WLEWD. [D] (i) whmbd (i) wLE.
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106. Assertion (A): Karikala Cholan was distinguished as “Ponnikku Karai

Kanda Bhoopathi”

Reason (R): The stone construction named Kallanai, a masterpiece in
Water Management fitted with water canals was
constructed by Karikalan.

(A) [A]is true, but [R] is false.
(B) Both [A] & [R] are true; and [R] is the correct explanation of [A].

(C) (A) and (R) are true.
(D) [A]is false, but [R] is true.

apg (A : ‘Qurarallsgs sap sarl yusl’ aar sflsred Cempar ApliNésiu@alpnar.
smpawd (R): peoyp Oppliupsgd amisstaseamsd @QoamdsiulL  somadlnhs
sNsL(wranorglu sooaman sflsraeamd s OILLCLg).

(A) (A) &fl gamad (R) saum

(B) (A) wpgd (R) @raw@d &fl. GCuauw (R) aaug (A) alpgé sfluner
afleTé & LomEL.

(C) (A) wpm (R) @rampd Heumy.

(D) (A) saum yema (R) &fl.

107. What is the second line of the verse from Purananooru that begins as
follows?

“Yadhum Oore Yavarum Kelir”

(The world is my Country, all countrymen my kindred)

(A) “Theethum Nandrum Pirar Thara varaa”
(Boon or Bane does not come from others)

(B) “Undi Koduthor Uyir Koduthore!”
(One who feeds gives Life)

(C) “Unbadhu Naazhi, Uduppana Irande”
(For eating a measure, for dressing just two)

(D) “Thuippom enine thappuna palave”.

(If savored alone, much is lost)
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“wrgh eaCy wramn Gaaflt” - ey GsrLEED ypprandpiur e @rei_reug
g erg?

(A) Sgb parg Nprsy eurym
(B) 2aig Gar@sCamm 2ullt Qan@sCsnCn
(C) 2aiug prgl euuer @remGL

(D) guiGumbd aeflGar sliyen LaGa

108. The message related in the Purananooru verse

“Yaanai pukka pulam pola,
Thanum unnaan,; ulagamum kedume....”
(As the elephant destroys the field, so does the King’s taxes does not benefit

himself and destroys the world).

1) Tax abolition.
2) Reduction of Tax.
3) Regulating Tax Collection Methodology

4) Tax Evasion.

(A) 1 only.
(B) 2 and 3 only.
(C) 1 and 2 only.
(D) 3 only.

“wrener Uss Lo Gure

ST o aanner; 2sWh (sMGL” - T LPHTaHNL UTLS 2 amiégib &nss)
1) aflenw guflgge

2) arflégenpLiy

3) afl agdlégn Yanaw uEEURSS5®

4) aufl guiiy
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(A) 1 LL@W

(B) 2 wpmwd 3 wLGb
(C) 1 wHmid 2 wL @b
(D) 3 wL{w

109. Which is the Grammatical literature pioneered by “Tholkappiyam” ?

(A) Thirukkural
(B) Moodhurai
(C) Nannool

(D) Neethi Venbaa

Qsrasrifluggler aflpars alatgn Qosser Fe ag ?
(A) glma@pe

(B) apgieny

(C) marae

(D) B8] Qauerrum

110. Match correctly the excavated things with their corresponding
excavation sites.

(i) Golden foils 1. Thirukkampuliyur

(i) “Rouletted” potteries made in Rome 2. Aadhichanallur

(iii) Sun & Natural Objects

3. Vadamangal

(iv) Fort wall (Compound Wall) that is
3000 years old

(i) (ii) (iii) (iv)
2

4. Uraiyur

(A) 3 4 1

(B) 2 4 1 3
(C) 4 2 1 3
(D) 1 4 3 2
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80y Qsnpésiiu@erer ser@LgLiysemer HFer eaiaEhLe ASTLILURSSS

(i) SBSLILLLESE -1 glmasmdyafly
(i) Grmomyfufle Qawwiule QretelLL

QLD LDGTLIMGHTL &6 - 2. g BlEsnagnT
(iii) @Mlwer wHHL Gupams o Heaurisa - 3 aLbES
(iv) 3000 gy airhlaer L wribs sHmsser - 4. epy

(i) (i) (iii) (iv)

(A) 3 4 1 2
(B) 2 4 1 3
(C) 4 2 1 3
(D) 1 4 3 2

111. The graffiti symbols of Keeladi are similar to which one of the
following civilizations ?

[A] Sumerian Civilization [B] Nile River Civilization

[D]Indus Valley Civilization [C] Yellow River Civilization

Sweular Spasa | gifsd Naamn aps prefssCsend @uUCHéss sgwuma ?
[A] &Cwflu prafsw [B] anfad B3] Brafaid

[C1ABg swlleuefl praflsd [D] weEhser 58] Braflsw

112. The carbon samples collected by the Department of Archaeology,
Government of Tamil Nadu from the excavations of Keeladi after
having been analyzed indicate that all the six samples fall between:

(A) 2" century BCE and 2" century CE
(B) 6™ century BCE and 3™ century BCE
(C) 4™ century BCE and 6™ century CE
(D) 3™ century BCE and 5% century CE
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Sy gspaniallar Curg sUlpErH Syrdlar Asraalusd gapured CesfldsiulL

sflo  wrelflsar, uELuUMle Qeuwiulrgled Japfla sreb  agCear
Sfluliupalng 2

(A) &Ly @remLmd gropren® wse &l @rawLmd Froprear() eueny.
(B) &lup Spmbd Froprar@) ws® &l apammd Fropren( ey,
(C) &y prensmd Froprar® s &0 gy omd FrHpren® euany.
(D) &l apempmd EropraEh s &1L pHsTDd ETHOTTH cuenry.

113. (i) Dharma, Atharma, Kaama and Moksha are the four fold
classification of Indian Philosophy.

(ii) Tholkappiyam and Sangam literature speak only the first three.

Which of the above statement/s is / are correct ?

(A) (i) only

(B) (ii) only.

(C) (i) and (ii).

(D) None of the above.

(i) i, Sy, Mo, CLI S e BraE ums LTGUILOL Qb3S 555 ka6
eyludlp&erper.
(i) Qsrovsmiflun  vpmd shs Qosdlutisda wsd ey amssmer WLLEGW

eyludlp&aper.

Gupsremd spmsafled srﬂu.margj/mm agl / aeeu?

(A) (i) wLEWD
(B) (ii) wL{
(C) (i) wpmw (ii)

(D) GupsaiL aamab .
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........................... are the

eyes of all human beings”

In the above Thirukkural, which one of the below are identified by Thiruvalluvar as
the eyes of all human beings :

(A)
(B)
(©)
(D)

Virtue and wealth
Impartiality and self control
Wealth and love

Numbers and letters

Waiallyair@w

sarQemaiy any wuise

Guopsrayd Flmseneiled ame GramaL glmad e saTsEhéE @UUTES & n&pm?

(A) Sinwd GummEsLd

(B) 5(l6y Blanaenoijld SjL&&(panLanidiLd

(C) QurmEnL Qe

(D) erairgmid &r(PSFILd

115. “Dare to do a thing......cccarmveriarasss

As per the above Thirukkural, how should we enter an action?

(A) After accumulating enormous wealth
(B) After charity

(C) After a mature thought

(D) At an appropriate time
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gl smwd genllhser
aau Zpse

aaany @n Qswudld FOUL Cauar( aar glmadepal Copsaglu @nefla
Sifloipisgislpni?

(A) Blepwls Qurger Gegs Ulng

(B) snamd Q&g LNn@

(C) peipras dlpgléa SspEL UnE
(D) 845 stawylbs

116. “"Speak out your speech, when once 'tis past dispute
That none can utter speech that shall your speech refute.”

What does Thiruvalluvar mean by “that shall your speech” ?

(A)
(B)
(®)
(D)

A synonym of the word used by you.
A substitute word.
A translated word for the word used by you.

That word of yours which cannot be won by others.

“Qeragus Geraaal LNHCsmibsend gFasrdma
Qauchges@lamed Qeirenn ylba”

- “QFQsrdme ” aar JlmedEral 2 mpiLg damg ?

(A)
(B)
(9
(D)

prser LwaL@sglu Gurmefle Calbpnm Gene.

Qeredqus@ wriprs Ceuy@ame.

prse LwaL@slu Qerdqse Caupyawmfe Qam.

whpeaisamd Cede Py msEHmLIL G&meD.
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117. T if they fail to control it, their words will lose weight
and sorrow and grief will overwhelm them”.

In the above Thirukkural, Thiruvalluvar emphasizes the importance to control
one’s tongue. According to him, this is applicable to :

(A) The wealthy

(B) The Poor

(C) The Good human beings
(D) Everyone

GN&N&& STeUT&Sme)
Gamamiuir QerdeflpsEL LLE'

Copsaflu glmé@naled gmaerehear preadsdms Lngl samalprr - QUL daHEEL
QurmHEL ?

(A) Qurmer 2 amLLaHEE
(B) Qunmer SnConmée
(C) patarmseg

(D) S|manau([éEL

118. “"Incomings may be scant; but yet, no failure there,

If in expenditure you rightly learn to spare”.

What do you infer from the above ?
(A) Work hard to increase your income.

(B) Though income is limited, one can live without any misery, if
the outflow is carefully managed.

(C) Completely restrict the outflow regardless of your income.

(D) Increase both the income and the outflow.
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“gpan paraflly. sruflay Gaigdeney
Cunar psané semL"”

-Guparayd Gpafled QmHg el Syfleug wng?

(A)

(B)
glaruwsleng] aurp g,
(®

(D)

119. Match the following:

all the rest is nothing but trash to him”

(i)  “When trouble comes..................

(iii) “like the stork or crane with folded
Rings.a.... R I B, | L
(i) (i) (i)
(A) a b C
(B) b C a
(C) c a b
(D) C b a

Qeaameis seuamors GLaramennd Calgmed  arey

areal QumsEusHGS shaors 2mpss Ceuamfid.

Gaparamg aalss

are) assamsusrilg Qeaallar Qumsssms WEambLTss sLELLESSS.
arey, Asney @raraLy Islsflsgs Candar CoueamRL.

(a) Need to encounter with
cheerful face

(b)  Knowing the fittest time

(c) Learning

QanwasCan@ aglttanerer Couemmig.L
SjauFlwid

sflunen hsTiILD SYflbs
Qewadu@ga

saall sHHed

www.mntfreeias.com
69 of 120



www.mntfreeias.com

(i) (i) (iii)
(A) a b C
(B) b C a
(C) C a b
(D) C b a
120. “TO USE ....cciveverimrusnsimsnsnmsinsasnnsasnsas is to

make choice of unripe fruits to ripe fruits”.

In the above Thirukkural, according to Thiruvalluvar, which one, when
spoken is equivalent to choosing unripe to ripe fruits ?

(A) Truth instead of falsity.

(B) Rebirth instead of the current birth.

(C) Bitter words instead of sweet words.

(D) Talking about arrogance instead of humility.

a6

saflllmius smisalp sHo
fégnale Spadamar, Tmss ayag salllnsgn Curg stows saiusHE
QUUIEL earglpm ?

(A) earaoulHas0 QUMD Sna.

(B) @uaw @més vy unlé s

(C) Qallumas @més Qaramss .

(D) SLésWLMLEGL Lglons JyLéslaew updll Cuseus).

www.mntfreeias.com
70 of 120



www.mntfreeias.com

121. (i) “What is called Truth of True word.........cccccuneees "
(ii) “External cleanliness can be had by use of ............ "

Considering both the above Thirukkurals together, which one of the
following would be the most important outcome?

(A) Falsehood
(B) Truthfulness
(C) External cleanliness

(D) Blameless good

() 'QUIIELYD QT ULES oo

(i) YDBETIEL BITO@DY DSBFETLED i
@aiallyar® @nersmenyd @BCEr vargld Cararp) Spssami_ ahs allmae) 15)GEHS
WaEusFaD 2aansned &mEalT ?

(A)  Qurenw

(B) aumuenio

(C)  Upbgruien
(D) yardihs maranio

122. Which one of the following is not the attribute of Thirukkural ?

(A) Secular nature
(B) Compassion
(C) Inclusive thinking

(D) Naming some Kings and praising their individual valour.

Naramaaapned slnsgpafld Qaoors Juey ag?

(A) wgé&sniLiearenio

(B) @résid

(C) Smeandeansub 2.der_salu flhsemar

(D) élo wvaraisellar  Quuisemers EULUQeagL, eirsela FafllulL
alrdasl Lenanmieig|Ld.
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123. During the Sangam age, "“Hero Stones” were erected to
commemorate the honourable death of Heroes. In order to protect
which one of the following, these heroes gave up their lives while
fighting enemies ?

(A) Horses
(B) Clothes & Jewels
(C) Cattle

(D) Weapons

sus staszla aapmpl umsaflLblpiy stéew wupddled FOULE eult P55

airtaEné® “HHEHS FLLILL L6 ?

(A)  @dlmnsd
(B) QoL yuramwmise
(C) srapeLsar

(D) Quysrsa

124. “All men that live are one in circumstances of birth;

According to the above Thirukkural, differences among the
individuals in a society are due to:

(i)  Quality of their actions.
(i)  Amount of wealth possessed by their kith and kin.

(A) (i) only

(B) (ii) only

(C) Both (i) and (ii)
(D) None of the above
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“UpuQuré@h aaar 2wliE@w ...

Copaglu  Simégpallar Ly @@ swsmussled safl weflsisenssla Cuwrer
Cappewsgs smemors QEUUS :

(i) SanseroLw Qeudsele g

(i) Seiseller epallarisellLd Jméew Qsodasgslar emay

(A) (i) LR

(B) (ii) LA

(C) (i) whmbd (ii)

(D) Gupsremid eranaild Hee.

125. What is the importance of Thirukkural as a secular literature?

(A) Being secular, its values are not just confined to any particular religion
and it is applicable to the entire humanity.

(B) Its focus on human welfare.

(C) Reading Thirukkural strengthened the secular vision of the founding
fathers of our nation.

(D) All the above.

wyssmiLpy Gosslub aep amsuled siwsepela widlusgauw wrg?

(A) aps @@ UL ws wIudlyhsra Gasdluvrsad Gadang LrELLD
WRmEGD AuTHHHD FaflsgaL.

(B) wraL Foamen Wepimsgh saflsgauL.

(C) Smé@par amdlliy b Brial sLLOWLSS Somaaiseled LsE smmuHp
sananenil auaflenwlILRSSwg).

(D) GupseL SjamensgiL.
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126. Who formed the “"United Nationalist Party” ?

(A) Poppili

(B) Subbarayar
(C) Natesan
(D) M.C. Raja

“yoadLL Crearaflab s 8"mus Csmhpeallsseulr wnir?
(A) Quridled)
(B) a&Lupmwim
(C) mCLsenmit

(D) erid.&). gregm

127. The original name of Oomaithurai was :

(A) Kumarasamy

(B) Kattathurai

(C) Meenatchi Sundaram
(D) Vellaya Thevan

eaewgaruler Qupduwuir eag ?
(A)  @wryemns]

(B) sLL§gny

(C)  demiél apgmw

(D)  Geuerenerug Cseuet
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128. Which place was closely associated with the “"Black Hole Tragedy”
of Madras ?

(A) Alipuram

(B) Mamallapuram
(C) Tiruppur

(D) Mallapuram

'Qeciener GuLLomps swy papsdy e Qsriiymu @b ag?
(A) Sellyrd

(B) ML

(©) glpugh

(D) weeyrLb

129. The Palayakkarar system was originally practised in which of the

following kingdoms?

(A) Vijayanagar
(B) Bhamini
(C) Kakatiya
(D) Hoysala

urenarwéanyi (pap waar wsalled aamaLy 9 rAiugiuld ArudussiurLg?
(A) aflgupsh

(B) umdlafl

(C) sraglw

(D) Qapmuismer
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130. Which of the following journal was not founded by Thanthai Periyar ?

(A) Kudi Arasu
(B) Puratchi

(C) Viduthalai
(D) Swarajya

Spsanayd praflgpsele speng Quilumpre gassiuLrs prellsp ag) 2
(A) @lurs

(B) yrcél

(C) alpsama

(D) &wymgwLb

131. Who is known as the "Political Guru” of Kamaraj ?

(A) Gopalakrishna Gokhale
(B) Mahatma Gandhi

(C) Rajagopalachari

(D) Sathyamoorthy

snoprgfler “Qrflued Gn” aar yPluliu@ue wri ?
(A) Gamuresg)medar CansCe

(B) w&TSLN SHE)

(C) @rrgCaruranésn

(D) esgugpisg

www.mntfreeias.com
76 of 120



www.mntfreeias.com

132. Which is the original name of Marai Malai Adigal ?

(A) Swami Dayananda
(B) Swami Vedhachalam
(C) Swami Paramananda
(D) None of the above.

wepweae Igsafler JupELwi erear?
(A) saumdl swnenhgm
(B) &auns] Ceugnégald
(C) saund] uForearHET

(D) Qaisafle aaumslama.
133. Perarignar Anna chose Justice Party to work for :

(i) Casteless society
(i) Classless society
(iii) Casteless and Classless society

(iv) Class based society

(A) (i) only.
(B) (i) and (iv) only.
(C)  (iii) only.
(D) (iv) only.

Curflgi yemremn $516 s flow apsl umisanas Cons05055M?

(i) englupm FPSTULD Y&

(i) eaiés CUsLHY FPSHTLLD JYMLES

(i) erglwpn, awids CusLHY FWHTULD HMES

(iv) aiésdms SpliumLurss QsmaiL sWHNUD HO0és
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(A) (i) wLELD.

(B) (i) wpgd (iv) bl .
(C) (iii) LLEL.
(D) (iv) WLE.

134. Vaikunda Swamigal as a symbol of protest :

(i) Urged his followers to wear a turban, a right which was permitted
only to upper castes in those days.

(i) Insisted on physical segregation in dining habits.

(iii) In his feeding centre called “Nizhal Tangal”, caste based
restrictions were broken down.

(iv) Stood for social segregation.

(A) (i) only

(B) (ii) only

(C) (i) and (iii) only
(D) (iv) only

aaugaiL saumdlsd agliiller JeLwrenons

(i) Sipss stesgle ewr grlflamée LLECL yawslésiulynmhs efambwurear
samalutms jafleamg arenar Lerupmuaismenyd el eellymssarm.

(i) saflgsaflurs oaramhgd Upsssms aallynssearmt.

(iii) ' smEsD a@y y@pssLULL 2arebsmltsad srglus sLELUT(SE
2 L g0gHluliulLan.

(iv) smu fglurs saflowliufsgsma <y shssn.
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(A) (i) L@
(B) (i) bLEW
(C) (i) wpmd (iii) LLELD
(D) (iv) LW

135. Which of the following were the policies and principles of

Perarignar Anna ?

() Religion and Politics should not mix.
(i) Privatising education and health sectors.
(i) Public ownership of transport systems in Tamil Nadu.

(A) (i) only.
(B) (ii) and (iii) only.

(C) (iii) only.
(D) (i) and (iii) only.

Spsar_amaseled Cupflgr Jearamallar Qandians whgb Canur@aer aeme?

(i) swwpb yrflugd gatorh) ey 50566 slng).
(i) seall LHYD &ETHTTSFMDSMET SEAWIT LWIOTESSE.
(i) sUIPBT I er CUTEGAUTSES SMPaMU SYTHOLMLWNEEGSW.

(A) (i) LLEID.
(B) (ii) wpmud (iii) LLELD.
(C) (i) wL{.
(D) (i) wpmd (iii) LLELD.
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136. The weekly journal “"Oru Paisa Tamilan ” was run by :

(A) V.O.Chidambaranar
(B) Thanthai Periyar

(C) Ayothi Thasa Pandithar
(D) Bharathiyar

“em eust sulpar” aaud oy @semlp FLSFIweulr wi?
(A) e 2. dgburert

(B) speng Quilwmi

(C) 6wrsg\ane Laig i

(D) umpglunt

137. Which of the following is / are not the work/s of Perarignar Anna ?

(i) Velaikkari.

(iil) Neethi Devan Mayakkam.
(iii) Kannan Paattu.

(iv) Kudumba Vilakku.

(A) (i) only.
(B) (ii) only.
(C) (i) and (ii) only.
(D) (iii) and (iv) only.

8 apaaappe aaa Cunflg amearmallar LaLlLs6 Jjda?

(i) Caemassmy (i) B3 Caeuen LWsSLD
(iii) Semremren LML () (iv) @Owu allaée
(A) (i) wLELD.

(B) (ii) wLEL.

(C) (i) whmw (i) LLEW.
(D) (iii) wpmwd (iv) wLED.
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138. What are the similarities between Thanthai Periyar and Socrates ?

(i) Asking and answering questions to stimulate critical thinking.
(ii) Purpose of dialogues is to expose underlying assumptions.
(iii) Accepted hero worship.

(iv) Accepted that solutions to problems cannot be identified by

discussions.

(A) (i) and (ii) only.
(B) (iii) and (iv) only.
(C) (i) and (iv) only.
(D) (ii) and (iii) only.

Quilwri, srépliedd gpalu @maumsed QoL Cuurear ghpimbs6r wramau?
(i) Caerallaar CaL@) allosrarugler aumdlons aflorser fglullorer #ssmareaws
Gl 6T T T& 6T
(i) sebgeayur_afer Crrésn Syawramsaia oL slsmasmen Ceuafls0anamrieog).
(iii) Brws efluriel gom&CsteLniga.
(iv) allargliuglar amflensl rsdlmasmsgs Siay snem (Pgng aeiLms FHmE

Q& TS 6T

(A) (i) womwb (i) wLGL.

(B) (iii) wpmwd (iv) LLED.
(C) (i) wpm (iv) L.
(D) (ii) wHmd (iii) wLEW.
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139. Ayothithasa Pandithar:

(i)

(i)
(iii)
(iv)

(A)
(B)
(C)
(D)

Campaigned for social justice
Considered education as an important tool for empowerment.
Started a weekly journal called ‘Kudiyarasu’.

Was an ardent follower of Hindu Dharma

(i) only.

(i) and (iv) only

(i) and (ii) only

(i), (ii) and (iii) only

I6urgg) sne Leig.sir :

(A)
(B)
(®)
(D)

(i) #aps Baéanal Gunymg.ennh

(i) soallow yglamsamsl Qunasnstar Pé&alws smallurss &mgleari.
(iii) “@yurs " aaid ey @smyp gy rodlssnt.

(iv) @63 stwsmss Sallywrsls daupdlwe.

(i) L@

(i) womd (iv)  wLLEW

(i) womw (i) L (LD

(i), (ii) wHmbd (iii)  WLLEW

140. Which is the best example of rationalist thinking ?

A person suffering from Jaundice has yellow coloured eyes:

(A)

(B)
()
(D)

Therefore, any food item that is yellow in colour should not be
consumed.

Wearing yellow colour dress aggravates the effects of jaundice.
Jaundice can be reduced by adorning yellow coloured flowers.

Jaundice is a disease which can only be treated by identifying the
cause. It has no relevance to the colour of the food consumed,
colour of the dress and flower one adorns.
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ugssaE fpsmamsgs sflurar apsgssn @ ag ?
QAT EE6 SToTEWND UTHIESILLE LE S B1Néeeis@nLa 2 drerm.
(A) el wEhsar FPSled arer ahg 2 amaaid 2 Gsnarers aLng).
(B) Sjailr w@eam gy yoLamu aflaig wehser smotama Crruller aliflumss grem@ib.
(C) weEhea Blpl Ysmad @GHeug LweEhsa smorae Crrllea saamwamus GmpsEL.
(D) weEhsar srorae aeug Crmissrer srandmss sarLylhsnd wLEHGL

GamLonéss s @ Cpmi. cearallar Flow, eamiular Hlpw, GO yésallar
Blob g &lwapmlpen @sCrnisen absalss 6gmidldme.

141. A person with self respect will have the following attributes:

(i) Will be a good team leader empathizing with other team members.

(ii) Will be prone to finding fault with others rather than looking into one’s
own problems.

(iii) Will believe in the inevitability of social hierarchy.

(iv) Will condone others’ mistakes and give an opportunity to learn.

Which of the above are true?
(A) (i) and (iv) only.
(B) (i) and (ii) only.
(C) (ii) and (iii) only.
(D) (i), (ii) and (iii) only.

sunflurens eea_w waflsr pssar. Lasmen QL mLILTT.

(i) ewalar wpy eopgifeaisalea oearmesmar Holhg Qsuoupn Hpps
GWssmaarTs Gmuunt.

(i) seigeLw samsmers GUlsg Qrmumned bhpaisalld saumsmers srarugld
S eutd Gl memria (HLILITT

(i) swsmull ugFlmasd Falltés Quenrgmen eer HOUUMITES GHLILTT.

(iv) vppaiseller sampsamer wearaldg, Saisda  epdled Q@b UL

spmsQanaer eauflaugLunt.
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Cupsei_apper sflurereneas eranau ?

(A) (i) wpgb (iv) LLED.

(B) (i) wimbd (ii) wLL.

(C) (i) whmid (iii) wLEW.
(D) (i), (ii) whmb (iii) LLED.

142. Which are the characteristics of a person with self respect ?

(i) Such a person will be with positive self esteem and will facilitate
meaningful social existence.

(ii) Such a person will promote free expression of creative ideas.

(iii) Such a person will treat others with dignity.

(iv) Such a person will have a superior feeling about oneself.

(A) (i) only
(B) (i) and (ii) only
(C) (iv) only

(D) (i), (i) and (iii) only

suofluregyeer waflgflear LaTpa6seT wreamea ?

(i) Spsmsw puir Crmveanpurer serwgllieu QupaeraurTEad, ITéswerer &4ps
ampallaar 2. Hard@LUarTaead @@L,

(i) gpgmsw  pur  ueLlurpped  Wlss  disoasmars  seLullend
Qaualliu@sgeuens ead@alllineuyns @maun.

(ii) QFsemsw HUT wHpeTsmer samalludgLar FLSFLTTS GHLILIMT.

(iv) Si$gmsw  Bul  wppaismer oflL grar cwWipsal 66y TaTETSMSS

Q& menrig. (FLILITT.
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(A) (i) LR

(B) (i) wombd (i) LG

(C) (iv) LLEL

(D) (i), (ii) wpgd (iii) wL @

143. Why did Thanthai Periyar write in “"Kudiyarasu” that “"Government and
National consciousness should exist only for the purpose of making the

people live with self respect” ?

(i) He felt that Government or nationalism is not merely to satisfy their
mean needs of food and clothes only.
(i) One’s self respect never robs away others’ self respect.

(iii) He felt that if true sense of self respect is inculcated in people, then
they will certainly create faultless politics and peaceful nation.

(A) (i) only

(B) (i) and (ii) only
(C) (i) and (iii) only
(D) All the above.

“oremaswhd  Csflu  2amiad wasmer  swoflurasburh eamps CslamsCu
Cpraswras Qsramymés Cauer(n” aar shens GQuflumt “guurs” @sfled gar
apglarmi ?

(i) Syremisd yowg Csdub aaug wésEhssTa eame), 2L GCune srgmrems
Comasamar  ZimUslLpSsusDETs  LLECL  Ydo UMy  Ijeul
2 G &) BHS.

(i) era@mmLwy swuofluras wipamamLy subfluragaul ufluugrs Qmssns.

(ii) swwflureng Y@L 2earabura Gurmefled wéseflLd o emridslLlLme
Satsdt  @eopsdr  gguopy  Jrflumayd,  yowglurer  BTLeLLL
2 (HUNG@GeUTTaaT eram 2. amiha)HHS.
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(A) (i) L.

(B) (i) whmbd (i) LLEL.
(C) (i) womwb (iii) wLEW.
(D) GuGe o6mar gjamenggiL.

144. In the Sangam age, Kotravai was worshipped as a Goddess by those
who inhabited:

(A) Mountain region
(B) Forest land

(C) Crop land

(D) Dryland

FLE STos3le Carppama e Qslagglaar aflu G anpbs Floluriy :

(A)  eflgd
(B) o
(C) wmHEW
(D) uUrev

145. Why is Thirukkural relevant even today ?
(i) Because, the basic Human nature has not changed much.

(ii) Because, Thirukkural does not focus on specific issues but speaks
about the general ideas related to Human existence.

(iii) Because, Thiruvalluvar had anticipated the changing needs of
modern society.

(A) (i) only.
(B) (ii) and (iii) only.
(C) (iii) only.

(D) (i) and (ii) only.
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Bmé@ner asamed Q5ss sTRssLLSSINED Cunmssons 2 derg?
(i) gQarafld, SyyiuaL vafls Guay Qumweralled wrHPD oL walldama.
(i) gQarafla, slma@ner UL faapmled LLECH saand Cegdsmoe,
weflgrsellar @muy upflwu Qurgeurer smsgsmens GHlsgL Cuaslng).
(iii) gQanafled, FlHeouanepeuy palew swsmusglen wIHlamDd Comausaman (paidLig.Cw

&5 BHS .
(A) (i) LLEWD
(B) (i) wpmd (iii) wL L
(C) (i) LLEL

(D) (i) wim (i) LLED

146. The flagship scheme that lends special character to the Tamil Nadu
model of development is :

(A) Mid-day Meal scheme.

(B)  Special Economic Zones.

(C) Information Technology Parks.

(D) Industrial Estate.
slpET e aemmEfll ureguller Splys @emmbssms Oaefliu@sgn  Eflw
glLLwrs yflulupag :

(A) w3lu 2ameyd FILLLD.

(B) Apuyl Qurernsny e QRISE.
(C) ssad Ogmfloplul Yrsmsser.
(D) Gsmflp CulenLae.
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147. Which of the following is / are true with reference to
Dr. Muthulakshmi (Reddy) Memorial Inter-Caste Marriage
Assistance Scheme:

(i) There is no income ceiling and minimum educational qualification
stipulated.

(i)  Either of the spouse should belong to the Scheduled Caste or
Scheduled Tribe communities.

(iii) Either of the spouse should belong to the Forward or other
Community and the other spouse should belong to the Backward
Classes / Most Backward Classes.

[A] (i) only.
[B] (ii) only.
[C] (i), (ii) and (iii)

[D] None of the above.

omagelr psgolasl @rly) plaeae orgl LNUYS SlHoear EaLILS &lHLwamrd)
58 2.galls gL Ggrijurear Neaaumn sppsela sflurag agl /| ama ?

(i) GopHsULE aumbrer arbGur, Ganbsuls soalls §@81Cwr dlawng.

(ii) suglufled gnmal ulkwed agullammsCaur g UL
uprGyarraCar @mssd CaemELb.

(ii)swuglufled gmelr whulL yodag Q57 agullamraeyw, wHGprwme
Npuessiue / dsaw NpupssiulL aglllamean @rsse Cae@ib.

(A) (i) wLELD.
(B) (ii) wLEL.
(C) (i), (ii), (i) gy sluama.

(D) Gupsar_eupmer areneulsloens.
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148. The importance of social harmony in economic development can be
understood by which of the following characteristics ?

(i)

(i)

(iii)

(iv)

Social harmony also means peaceful co-existence of various groups
in a society which are otherwise divided by various identities.

Peaceful co-existence of various communities means that the
government can focus on initiatives related to economic development
and the expenditure towards Law and Order management gets
reduced to that extent.

Social harmony also ensures a peaceful investment atmosphere
wherein investors remain confident of their returns.

Social harmony increases economic disparities.

A) (i) only.

B) (i) and (ii) only.
C) (i), (ii) and (iii)
D) (i) and (iv) only.

Qurmerrsny aerislulled sys podlarsssglen pislusgausms Naaumnd abs
uewryserne) Lflbg Qarerer (pigujb?

(i)

(ii)

saps Baallawssd erarug uoGam yoLwrarsare LNfbgslLéen @
spss8len LaGan Gésaflar HYamwglurer &6 anpe) aaLmsyd GHlEEL0.
uaGeiny sgpsmseallar amwglurear ssampe; aaug HrE  Qunmergmy
aerjedldanar ardarplysaler seueamnd Qegss Yuamss @flégn. @
b5 Samallie sLLD @uBE Bliarssslnsta Csualatsmes Gompés
gglaunglpg.

(i) psdLLranfae  sEadT  PSSLpHCEHD el  FloLsgL  aa

poLdmamu  QPRGD @O obIluTE WSSLHF GUDoamu  F1ps
poslarésd 2 ngl Qsiglng.

(iv) ss podlarssd Qurmernsnyé swllaamweaw IHglafMsslng).

[A] (i) wLEW [B] (i) wpmid (i) wLELW

[C] (i), (ii) wpmd (iii) wL@w [D] (i) wpyw (iv) wLED
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149. Match the following :

i Block chain backbone 1. Online services

ii. TNeGA 2. Remote sensing Technology
iii. E-sevai 3. Nambikkai Inaiyam

iv. TN-GIS 4. State Nodal Agency

Choose the correct option from the codes given below:

i i i v
(A) 1 4 2 3
(B) 4 3 1 2
(C) 3 4 1 2
(D) 3 4 2 1
QAurmszs
(i) Uemrs Qewier Cusbumen 1) Qeemuefld Caenausar
(ii) TNeGA 2) Ogrene 2.amfays GgmglepL UL
(iii) @-Caeneu 3) pléans Gemeamwid
(iv) TN-GIS 4) LIFlO @HESIMaTLL WaemL

spsraruamaldmhg eflurer alloLmwug CaibEsHEsew

i i ii iv
(A) 1 4 2 3
(B) 4 3 1 2
(C) 3 4 1 2
(D) 3 4 2 1
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150. Which is the objective of Arasu e-sevai centres ?

(A) Providing unified access to e-services of different government
departments on a common platform across the State.

(B) Providing overall guidance to e-governance projects at district
level.

(C) Providing on-line examination services.

(D) Providing residential data for Tamil Nadu.
Irs Qeeamw auflé Ceama (@-Coamal) pHaukisallen Conéaw ag) ?

(A) wrpleb WEagb ustan yras gmpsedda Qamaru ayfls Csmeasmanyw
pOBslmass @@ OUTgssmssled amiEh amsuld aptEsa.

(B) wralL Saaflamen wlar 9 Ermss 5L LEGEHEE el 1LH5.

(C) Qaarweafls Coreysensarar Ceamaullamar auPREGSW.

(D) sulpBLharer GulBULS STe|samar QIDE GS6.

151. Who took major efforts in the emergence of labour organizations in

Madras Presidency ?

(A) M. Thirumalachariar

(B) A. Singaravelar

(C) Thanthai Periyar

(D) Maraimalai Adigal
Qsarenan wranewsgla Gymlonai yeawlilsamer e Hansgh upfsalsd Wla
wédlw urstpflwey wry ?

(A) . Smwergemflun

(B) ¢. flmsryCeuei

(C) speng Quiflumy

(D) wepweme Ijg&6r

www.mntfreeias.com
91 of 120



] www.mntfreeias.com
152. The philosophy of Social Justice is largely rooted in :

(A) Natural Justice.

(B) Moral Justice.

(C) Distributive Justice.
(D) Legal Justice.

sps P31 ssga Oumwaalld Camardlulmiug :
(A)  Qupams pgluflé.

(B) g & palufle.

(C) umSLE Balufle.

(D) &L st Bglufle.

153. Match the following :

Social Reform Movements Reformers
a) Theosophical Society 1. Veerasalingam Pantulu
b) Self-Respect Movement 2. C. Natesanar, T.M. Nair,

Thyagarayar.
c) Widow Re-marriage Movement 3. Madam Blavatsky
d) Justice Movement 4. Thanthai Periyar.
a b C d

(A) 1 3 4 2
(B) 3 4 2 1
(©) 3 4 1 2
(D) 4 3 2 1

Spsaar_apeapll QUImSSS :

sps 1355 Qussmise g\ mdsaungsar
a) glCwreursLlad FrsL 1. aiGrsaflian Lpgie)
b) swoflurms Guésd 2. 4. pGLeaniy, g.erid. HTwi, Slursymuy
c) allsama wywear Gussd 3. Lemreunlebd] Sydenwwn
d) 58 Quésw 4. speng Quiflung
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a b C d
(A) 1 3 4 2
(B) 3 4 2 1
(© 3 4 1 2
(D) 4 3 2 1

154. The plight of the villagers and the sufferings they endure while
trying to resolve their problem of water scarcity is depicted in the

Tamil movie :

(A) Mahanathi (B) Neerpparavai

(C) Thanneer Thanneer (D) Eeram

gy wéser srselar samantil uppréGapulamd ghiupL LrFsoasemss Sie
srem (YuCurg eglidsma@rn gurtsmen GeefllL@sgid sU1HS slaruuLL :

(A) wsrpg] (B) piiupma

155. (i) In India, Socio-economic inequalities are well entrenched.

(ii) A law for fair distribution will automatically ensure just distribution
of resources.

(iii) Governments will have to ensure a level playing field in order to
establish justice.

Which of the above statements is / are true with regard to
distribution of resources.

A] (i) only
B] (ii) only
C] (i) and (iii) only
D] (ii) and (iii) only
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(i)  @bsluralled sapsl Qurmertsty gins srpeyser Hei@ GCeugnaimwarerar.

(i)  plurnuwrer euemsulled eaeammsmer LlThselss uamsbsliyw s LEs6
QupdlemCatu Curgiorargl. HEs LRs6 Syelauemhisd & Iyeralled
uglpseflésliLpeoems emsl s,

(i) fglew PlenaprL Smarauma@L s aumily aPEsLLfums Irs 2ng)
Qaww Ceuanr(pLbd.

aeriisemery LETsefling Qsriiurer CupseaiL smpysee sflurame ag [ ama ?
A] (i) LL AL
B] (ii) L@
C] (i) whmid (iii) WA
D] (ii) pmtd (iii) wL A

156. Which of the following movement urged its members to give up

their caste surnames?

A] Pure Tamil movement
B] Self Respect movement
C] Quit India movement

D] Bakthi movement

Spsarand abs Quasd yser epiflesmar sraamg grglullar Quweny
srsa QUUBLE Qmanss SmpsE apsssmss msalll aallynsslug?

Al safls 51D Quaswd
B] swwiflurens GuwésLd
C] QauareneruGar QauaflGugy Quésid

D] u&gl Quési.
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157. The Protection of Women from Domestic Violence Act-2005

safeguards women from :

(A) Physical abuse. (B) Sexual abuse.

(C) Economic abuse. (D) All the above.

Quers@En&agiyrer GHLL aeryans sHLLE sLLLD 2005 abg aflgorear aerpanpseflenmbal
QuetrsEhéE LTgSTIL PEEGSIng?

(A)  2L& fglurer auanpanp (8) unaflwe fglwner euargpanp

(€ OQurmerngny fgluner auanpeny (D) QB3 gparn eumswten
auairpen & aiflaf) gL

158. Match the Marriage Assistance Schemes of the Government of Tamil
Nadu with the respective names given to each scheme :

Scheme Name
a) Marriage Assistance for poor girls 1. Annai Terasa
b) Widow re-marriage assistance 2. Muthulakshmi Ammaiyar
Q) (I\;/Iieslrsriage assistance for orphan 3. Dharmambal Ammaiyar

Moovalur Ramamirtham

d) Inter-caste marriage assistance 4, A g
mmaiyar

a b (o d
(A) 4 3 1 2
(B) 2 1 3 4
(C) 1 2 4 3
(D) 3 4 2 1
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80 Qsnpéstiu@erer ulps gyrdler glmwen egally FlLEsmar
Qapdlpg GLLUuL@der QuuisGem® Qurmssaw :

glLLLD Quuwir

gl Quenser Fmwen 25alls
BILLLD

b)  aflsenes wywerd FLLLb 2. (pSgOL&S Sjenwwn

1. Satenar Qgram

o psrampl QuersEnéstar &mwen
2 5afl§ L

3. Sforbumer Sybenwm

gpaugit @promsligio

S| WY

d gl bouys sleoer esafls SILLn 4.

(A)
(B)
()
(D)

W = N b
A N B W T
N A W EHE O
= W M N QO

159. The aim of the “"Cradle Baby Scheme” of the government of Tamil

Nadu is :

[A] To promote mother-feeding.
[B] To ensure delivery of babies at Hospitals.
[C] To provide immunization to infants.

[D] To eradicate female infanticide.

5Ulps yréler Qs GRimMsSs Sl Ls3ld CHrésw ;

[A] smilured el (ams casEallsse

[B] wLEsSwmasad GuimsliCLn Blahams 2 nslasiised
[C] ¢lassendanar CHMUSSOLY Wepsmar auPEIEGSHD

[D] Quair Has Caraasamer uflsseam
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160. Which one of the following is not the journal that carried on the

effective propaganda of self-respect ideals?
[A] Kudiarasu

[B] Revolt

[C] Swathesa Mithran

[D] Viduthalai

Spéarayd préa@seller suwfluramss smigssmar Aplurer eapuled Lrliyeny
Qeliung préer arg ?

[A] GlWra

[B] yrLé

[C] &Caaflg 8 en

[D] alpgame

161. (i) The concept of welfare state had its origin in Western Europe
after the second World War.
(i) The main idea of welfare state is that the government should not

play any vital role in human development.
Which of the above statements is / are true ?
[A] (i) only. [B] (ii) only.

[C] Both (i) and (ii). [D] None of the above.

() L& B IYT& @b SHSSTESL Qrawimd easl CurmaEl Uerent Coneg
oGrriuralled goULLFTELD.

(ii) wésa B Sréler paaamws fhgmen aeLg yremasd wafls aeiEdllled aps e
WéAlwl U@y YODE ST TaUSTELD.
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CopseiL smppsele sflutearg g /aame ?

[Al (i) L@ [B] (ii) LA

[C (i) wHgd (ii) [D] Cuopsei_ egeojb Game

162. Assertion (A): In the contemporary society, some people are tempted
towards “Hero worship”. This is not a healthy trend.

Reason (R): Rapid Urbanization creates a sense of being rootless. This
inturn creates a longingness “to belong somewhere / to
somebody”. Therefore, some people are attracted towards
the Heroes. It induces a blind following and thereby
inhibits a critical thinking of one’s own socio-economic
problems.

[A] (A) is true, (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation of

(A).
[C] (A)is false, (R) is true.

[D] Both (A) and (R) are true, but (R) is not the correct explanation of
(A).

apy (A Qaepu  spsrussled  Har  “prus  efluriar”  Cprés
rigsLLGE DTS, @8 e Y Crrssluwrar CursE dw.

smpemd  (R: 9plCaus papowWLIESD Fomse Harsd srsag Geurseamer
Quigel g Curay @@ oeamellmar gouRsssing. Qs
@ssmsw puisellLD stREd “gCsmd em QLimzGur
puapGur” smibglmés Caar(b a6 géssms FHUOSES D).
aaGagrar,  @Qealser  ysp@upn  wafllgrsemer  Cprda)
risslU(Slaperr. Q8 bS5 BrusTEmer SeiapldemonsL
Neuppeens easgalliugemesd, aisd SEsEHMLL  FLps,
Qurmerngmyl yssmearsear @lss slpamiel Uiewns &HgléeL
slpener aigallpsss Gewigpg).
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(A)  (A) &l gy ema (R) Haup

[B]  (A) wpmd (R) @remBd &), Coaud (R) aarug (A)-allhE
gflwuren afleréaLb.

[C] (A) gaum gyeme (R) &

D] (A) wigd (R) &f, gpamed (R) earug (A) -allpg sflurar
alleT& & WM.

163. Which of the following pair is correctly matched ?

Scheme Chief Minister
[A] Noon Meal Scheme i) J.Jayalalitha
[B] Cradle Baby Scheme i) K. Kamaraj
[C] Samathuvapuram iii) C.N. Annadurai
[D] Nutritious Meal Scheme iv) M. G. Ramachandran

Spssan_apge sflursl QUIGSSILL Qerer @anam ag) ?

glLLID DEQMOEST
[A] wZlu 2ared SILLD i) Og Qguedlg
[B] Qsmipe @yuimss sl LLD i) @ smoyny
[C] swsgayrd i) &b, Sjemremngeny
[D] ségamayd Sl LLb iv) .Csar @rrossnglyer

164. In the 1962 elections, the Dravida Munnetra Kalagam (DMK) was
supported by Swatantra Party. Who was the head of the latter party
at that time ?

[A] E.V.K. Sampath [B] C. Rajagopalachari

[C] K. Kamaraj [D] Omanthoor Ramasamy
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1962-g b e CsigallanGurng, slgrall aCadns swssms &sHIms &6
57558, uAunYg &ss53)rmé sLAular saants @mbaei wri ?

[A] . Geu. &l &sbuS [B] & @rrgCamurenssnd]

[C] @ smoprg [D] quignt @rmosms)

165. Which Chief Minister introduced the Mid-day Meal scheme in
independent India ?

[A] N.T. Rama Rao [B] V.S. Achuthananthan

[C] M.G. Ramachandran [D] K. Kamaraj

s55517 @hglurafled wglu eaad JILLjms JflPsiuPSslu Wsemwsst wi ?
[A] @er ig. @pmonymel [B] all. aeb. SyFagneanpgan

[C] w.Car @rmossnglyer [D] @. smnoyng

166. Assertion (A) : Agriculture continues to be the largest employer in
Tamil Nadu.
Reason (R) : Non-Agriculture sectors are yet to generate enough

employment to effect a shift of labour force.

[A] (A) is true. But (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation of

(A).
[C] (A) is false. But (R) is true.

[D] Both (A) and (R) are true. But (R) is not the correct
explanation of (A).
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aip  (A:  sdlpsssle  ellasmubn ygls puisEsg Cameamilflamer  aphgls

Qanar [581Dg|.
sryemd (R): o apliureriaer smaarg Ogmflosmer wrifls Qsrdreusnesd Csmeuwnar
SeralliE Camaamiliysame allasnubaang gampser e manssaldma. .

[A] (A) &l Syame (R) Seuny

[B] () wpmwd (R) @rean@d &fl, Cogid (R) aeawg (A)-afllhE sflurear aflaréswngL.

[C] (A saum yame (R) &

[D] (A wpmd (R) @remid &f, gy emnad (R) erairug) (A) -allh@ sflwren aflaéswee.

167. Which of the following pair is correctly matched ?

City / Town Industry
[A] Ranipet i) Leather
[B] Namakkal ii) Fireworks
[C] Erode iii) Poultry Farms
[D] Sivakasi iv) Power looms

Spssan_apgd ais Genem sflursl QurmssiuL (arang ?

LDTBELD / HEFLD Qg harene
[A] @rrafluCuLleanL ) Gama
[B] pBmoése i) ulLn&
[C] mCrr@ i) Gamgll uemenamsar
[D] Hasnd iv) e
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168. (i) Tamil Nadu is grouped among the high enrolment ratio states in
respect of school education.
(ii) This has been possible mainly due to the supply of free

food, free uniforms, free footwear, scholarship, etc.

Which of the above statements is / are true ?
[A) (i) only.

[B) (ii) only.
[C) Both (i) and (ii)

[D) None of the above.
()  uarells sdalleawl Qurmssaer sBIPHTE yglswrar Cefsams allglssmss
QaraiL wrFlomseld @emrs amalu@ssULL (ereng).

(i) Qg snsFuwrasnE WHaamLLIN STTaEsMTs @HULE Qoas 2are), Qaauss
moLser, Qoass stoaflsd, sdafl 2gallsdstms Curamena apmsiILEUCS

HED.
Cupsreariu@n sppsesd slurama s / ama ?
[A] (i) bLL@W [B] (i) wL(d
[C] () wHmyd (i) @ram(id [D] Cupsar_ agewn Gaome

169. As per the census 2011, which district of Tamil Nadu possesses the
highest literacy rate ?

[A] Chennai [B] Coimbatore
[C] Kanyakumari [D] Namakkal
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201 -gpib gy aminar wéseT OFTanss samsda@lllar Ly, SUIPFI g6 aps wralLd wls

Iplavrer seall afllgsmzs Qaner@ererg ?
[A]  Qsarenar [B] Gamuwbysgnh

[C] sarafllungu [D] prvése

170. "Tamil Nadu developed a commitment to universal and well
functioning public services thanks to the power of
democratic action, public reasoning and social action”.

Who said this ?

[A] Amartya Sen and Jean Dreze.

[B] Dutt and Sundaram.

[C] Raghuram Rajan and Abhijit Banerjee.
[D] Milton Friedman.
'marprws  Qeudun@sd LEssHluL  Sloar swps  Qeuedun@sd o Sluapdlar

allmareuns  yeearaums@Lrangid, EplyLar Qsudu@egorar  QurgECsmausemen
aprGasl® sWlprTl ss yFuuaiiou aahsgerens).

Qaany sglug wr?

[A] Sjwisslur Qear womw Per 1 Crad.
[B] 85 wpmd s5501D

[C] r@ymd prger whmb Hgls uranye.
[D] wlorer Ul Gwer.
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171. The most important reason/s for the relative success of Tamil Nadu

in extending social policies lie/s in :

(i) Near universal coverage of schemes.

(ii) Populist welfarism.

(iii) People’s active involvement in democratic politics.
(iv) Targeted distribution systems.

[A] (i) and (ii) only

[B] (ii), (iii) and (iv) only
[C] (i), (ii) and (iii) only
[D] (iv) only

saé Qaramssama allfloupdzagled glil aalléd sulpsnyear dapfées
16l& &alué snypemons | snyemEisaTS allerEigaug ;

(i) FILLSSLL Qjenanauenyiyd o areTLéalug gl L maar
(i) &sereny Fad Canadans

(iii) oapTws rfludlsd wasela safly FEUIE.

(iv) Qasg folllonar aflflCurs wapse

[A] (i) whmb (i) Ll
[B] (ii), (iii) wpmd (iv) LLED
[C] (i), (ii) whmd (iii) WL A

[D] (iv) LR
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172. Which is / are the reason/s for the success of
“The Tamil Nadu Model” of Public Health ?

(i) Tamil Nadu was the first state to enact a Public Health Act in
1939.

(i) Creation of distinctive Public Health System at district level.

(iii) Good political commitment and leadership in Health sector.

(iv) Heavily centralized Health systems.

[A] (i) and (ii) only

[B]  (ii) and (iii) only
[C] (iv) only

[D] (i), (ii) and (iii) only

Qurg &sngmyssled “SBlYER wrElN"Wlear Qaupflé@s smyed | snyemmisan wrg

wrenal ?

(i) 1939 -gib gpargd @urg ssrEmE sLLEmy Quidlu psed Wl
Sl L0}

(i) wralL gaafled saflggeunrer Qurg sargmm wanawu FoLESSILS.

(i) &angms gapuled yrélud FElurar Htuamiy v Fmaamisgeub.

(iv) Quilgid ewwiL(ssIULL &&ETHTT LS.

[A] (i) wpmd (i) WL
[B] (ii) wpmd (iii) Ll
[C] (iv) bL @

[D] (i), (ii) whmd (iii) wL G
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173. Which of the following is/are the correct statement/s regarding
Perarignar Anna with regard to the early days of the Dravidian
movement ?

(i)
(i)
(iii))

(iv)

[A]
[B]
[C]
[D]

He understood that medium is the message.
He understood that affirmative action will lead to progress.

He used theatre and cinema as effective instruments of
communication.
He was a non believer in distributive justice.

(i) only
(ii) and (iii) only
(iv) only

(i), (ii) and (iii) only

girnellL Quéssgler Qs és sremsmer QurysswLligsd Curleh gjamamm
upflu pésrayd sapysae sfluras/man aslmean ?

(1)

(ii)
(iii))
(iv)
[A]
[B]

[C]
[D]

215G CFg) aaruamg el iflbaHHSNT.

2 NsIILpEED BLaysamase patainsslie aflaueseh aaums
S AF5S\ GBS

SjauT BILELD LHNL Sleny JYTEGSMer saaued GsrLiysaner fpps
smallsemmall Lweru(\s g e,

Sy uglipsells@n felufllad puoléms Qandamseuf.

(i) wLHW
(i) whmd (iii) wLED
(iv) wLEW

(i), (ii) wpyd (iii) LD
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174. Which of the following fact/s is /are correct ?

(i) Tamil Nadu has 30.50 % of its total population as urban
population.

(i) IMR in Tamil Nadu is 17 per 1000 whereas the all India average
is 34 per 1000 as on 2016.

(iii) Tamil Nadu has come first in the Health Index Report as per
Progressive India Report (2018) - Niti Aayog.

(iv) Tamil Nadu accounts for 10% of leather exports and 50% of
leather production in the country.

[A] (i) only

[B] (i) and (ii) only

[C] (ii) only

[D] (iii) and (iv) only

Heaumb spgsaa sflurmg/ou ag/aama ?

(i)

(i)

(iii))

(iv)

s priger Guorss wasear Gsresulled 30.50%  wasdr HaTLILYEsarlD
cud) &gl e aniy.

2016-Qa gyl @Bglu Seralled Ghmssalar @niiy aflldlg syrafl 1000-4@
34 aar @méeL ploauled, sUPEMILLd Gubmsseia @nuy aflglsw
1000-6@ 17 9,5 QMBS

B8 g Gursalar whCurssrer @hslu Syflsms 2018 @er sarsmy GHULE
Sflsmaulled sUIPEIR W5 QLI 2.drang).

priger Ggred ghmwglulled 10% GCgred epusglulled 50% sulpHr e

LURIGaflLUNS 2 aleng).

[A] (i) L@

[B] (i) wimwb (i) LW
[C] (ii) L@

[D] (iii) whgd (iv) LLED
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Which district of Tamil Nadu has the lowest child sex ratio
according to census 2011 ?

[A] Madurai
[B] Theni

[C] Ariyalur
[D] Cuddalore

2011-gu1b S ager wiaar Agranss sarsdsOularLg, sHPET LT abs WIALLLD
flaé Geparar Gphmsl Urdlear aflglssmss Qaram@arersg ?

[A] wgeny
[B] Ggarfl
[C] Siflugni
[D] sLai

If P denotes +, Q denotes -, R denotes X and S denotes =, which of

the following statement is correct

[A] 36R4S8Q7P4 = 10
[B] 16R12P4957Q9 = 200
[C] 32S8R9 = 160Q12R12

[D] 8R8P8S8Q8 = 57

P aeiLgl +, Q areiLgl -, R areiiug) X whgd S aarugl + erafler Spéaeraupmle
ag sfluner sapgy ?

[A] 36R4S8Q7P4 = 10

[B] 16R12P49S7Q9 = 200

[C] 32S8R9 = 160Q12R12

[D] 8R8PBS8Q8 = 57
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177. A Clock seen on a mirror shows quarter to three. What is the

correct time shown by the Clock ?

[A] 8 hours 15 minutes.

[B] 9 hours 12 minutes.

[C] 8 hours 17 minutes.

[D] 9 hours 15 minutes.
@® sgsmyd sarammgule urisgw Gurg GCpyw 3 wenll gs 15 Plilimser 2.ererg
aes s1L(Elng aaflled syamsgler sflurer Gryw ?

[A] 8 wanfl 15 Bl st
[B] 9 wenfl 12 BlislL_Eiser
[C] 8 wenf] 17 BISILRi&aT
[D] 9 wenfl 15 BlSILRiger

178. If the volume of a cube is 1000 cu.cm, then find its surface area ?

[A] 100 sg.cm
[B] 400 sg.cm
[C] 500 sg.cm
[D] 600 sg.cm

@ sasgrssler sar gjamey 1000 50818, aafled yger ypiurifeens srears 2

[A] 100 &.0&.5
[B] 400 5.08.5
[C] 500 &.Q&.5

[D] 600 &.05.5
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179. A book contains 120 pages. Each page has 35 lines. How many

pages will the book contain if every page has 24 lines per page ?

[A] 170 pages
[B] 180 pages
[C] 175 pages

[D] 185 pages

galarm usssslgn 35 aflsmas Osrar. Usssssldar Cworssl usstsear 120
aefld geldarm usssslgw 24 aflsams @Q@psred yUUFsss3ld QurssL

LESEEE aHFmeanuns QméGL ?

[A] 170 U&SREI&E
[B] 180 U&&EI&ET
[C] 175 L&EEI&E
[D] 185 U&&EI&E

180. 12 men can complete a work in 36 days. In how many days will 18

men finish the same work ?

[A] 16
[B] 24
[C] 26
[D] 54
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2 gyraa @n Camamu 36 prisald Qsug epusslaperi. 9465 Camamu 18

Qy-&ar ahyemen praselle Gslg wuluriser ?

[A] 16
[B] 24
[C] 26

[D] 54

181. The product of two numbers is 432 and their LCM and HCF are 72
and 6 respectively. If one of the numbers is 24, then find the other

number ?

[A] 16
[B] 18
[C] 22

[D] 36

Qm eaarsellar Qumsspuesd 432 whgd Smasellea B, wHyd W.AUT.
weapGw 72 whgb 6 YEw. Jdbaarsals en aar 24 dafld wHCPIEH Taraamms
SeHTE ?

[A] 16

[B] 18

[C] 22

[D] 36
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182. Find the total amount if 15 % of it is Rs. 30007
[A] Rs. 18,000 [B] Rs. 20,000

[C] Rs. 21,000 [D] Rs. 25,000

e® Ozresuller 15 % ererug (5. 3000 aafled gF0sTNEMWLE Snewis ?

[A] (5. 18,000 [B] (5. 20,000
[C] (5. 21,000 [D] (5. 25,000

183. In a class, 40 % of students are boys. 60 % of girls are rank
holders. 40 % of students are rank holders. Find the number of

boys with rank, if class strength is 50 ?

[A] 2 [B] 4

[C]6 [D] 8
e alled 40% Gur wraransed. 60% wramallsd gyb GUipeTse. Qrds
wrames, Lreawallurselld 40% gy  Qupparsd. agudla  Gworés wrame,

wramellwiseller cranafléns 50 eaafld, s70 Quip wramersellar eerenldma

aTenenm ?
[A] 2 [B] 4
[C]6 [D] 8
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184. Arun drives 120 miles at 60 miles / hr and then drives the next 120

185.

miles at 40 miles/hr. What is his average speed for the entire trip ?
[A] 42 [B] 48
[C] 50 [D] 54
S LAl @ ansasms 60 mwdsd /| wall aap Cassgle 120 @wosd
gLOAprr.  Nerart 40 ewdsd | well adip Casssled OS5 120 owodsd
gLO&pmm aafled Quwrssszgled yerg smmefl Casw aerar ?

[A] 42 [B] 48
[C] 50 [D] 54

In a flower garden, there are 23 rose plants in the first row, 21 in
the second row, 19 in the third row and so on. There are 5 rose

plants in the last row. How many rows are there in the flower

garden ?
[A] 12 rows [B] 10 rows
[C] 11 rows [D] 13 rows

@® YptsmLsslad wsed afmsule 23 Crrgné Qsyser, Qrewmd arflesulled
21 Gyrgné OQeuser, gerpmd aflesulle 19 Crrgne Qeysedr aar @m OsrLi aflas
ewllle odama. saLél aflmsdleé 5 Cprgre  Qegser  Qmlller
ILYHCEM 53D erssmen auflenssar o arerer ?

[A] 12 aflensser [B] 10 aflensser

[C] 11 alenssar [D] 13 auflengser
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186. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is

31. Find the value of x. ?

[A] 35 [B] 36

[C] 25 [d] 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 Qapdlar syrefl 31 aaflld x Qe

w3y ereien ?

[A] 35 [B] 36

[C] 25 [d] 26

187. Which one of the following humbers is exactly divisible by 11 ?

[A] 235641 [B] 245642

[C] 315624 [D] 415624
Spésai aaizalle 11 gped Bgufenf) agupy aer ag ?

[A] 235641 [B] 245642

[C] 315624 [D] 415624
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188. What is unit digit in the product 784 x 618 x 917 x 463 ?

[A] 6 [B] 2
[C] 4 [D] 8

784 x 618 x 917 x 463 aaip Qumssdsafle) @epraig) Qaésd aerer ?

[A] 6 [B] 2

[C] 4 [D] 8

189. Find the compound interest on Rs. 1,000 at the rate of 10 % per

annum for 18 months when interest is compounded half-yearly?

[A] Rs. 157.62 [B] Rs. 157.63

[C] Rs. 157.61 [D] Rs. 157.60

MU ES @@ WD el IsQLer GCarsaiucLred @m. 1000-@ el aLy.

aigld 10 % alisliLy, 18 LISHEEHEES sl () el starab ?
[A] (5. 157.62 [B] (5 157.63

[C] (. 157.61 [D] 5. 157.60
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190. If the rate of Compound interest is 12 % per year and compound

interest is calculated every 3 months, then what is the total amount

after 9 months when the deposited amount is one lakh ?

[A] Rs.1,09,000.00 [B] Rs.1,09,060.00

[C] Rs.1,09,060.30 [D] Rs.1,09,272.70

GL( aly did Q@@sE 12 % aday dsssld 3 wLIEsINE @G Yo
sawss|LiupD aaflld gn ols munl degssiulL e 9 wrsw sflss Qurss
Qsrens erelauere) ?

[A] t5.1,09,000.00 [B] 15.1,09,060.00

[C] (5.1,09,060.30 [D] {5.1,09,272.70

191. If A:B=4:6,B:C=18:5, Findtheratioof A:B:C?

[A] 12 :18:5 el 1 §

[C] 18 :12:5 [D] 5:18:12

A:B=4:6,B:C=18:5, aafléé A:B:Cullar alldlzsmss snews ?

[A] 12 :18:5 [B] 12 : 5:18

[C] 18 :12:5 [D] 5:18:12
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192. How many numbers are there between 200 and 400 which are

exactly divisible by 3, 5 and 6 ?
[A] 8 [B] 9
[C] 7 [D] 6

200-5@ 400-5@D QeLCuyder Qua eaarselled 3, 5 whpd 6 S&lu ey
aarsamaé Qsnen® Bguflen U@L aamisd aismen ?

[A] 8 [B] 9

[C] 7 [D] 6

193. In a class of 80 students, 65 % are boys. Find the number of girls ?

[A] 35 [B] 28
[C] 52 [D] 38

80 Guir Gsrar. agluapwld 65 % Cuir gyersd aafld Cuarseler aarafllsms

Tssenen ?
[A] 35 [B] 28
[C] 52 [D] 38
194. Choose the best alternative of White : Peace : : Red : ?
[A] Roses [B] Heart
[C] Violence [D] Danger

fla& sfluner geenns GansasR53) Qurr@g,gas

Qeuerenar : Yjenwg) : : Flaully :
[A] CGpmgr [B] @swid
[C] aanpenn [D] SQumuwd
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195. Rs. 120 is divided among A , B and C such that A’s share is Rs. 20

more than B’s and Rs. 20 less than C’s. What is B’s share ?

[A] Rs. 10 [B] Rs. 15

[C] Rs. 20 [D] Rs. 25

A, B upg C aeap gpeim BUTEer . 120 - @ uslipg OsnarepwCung, A-6i
UE@ B-a1 uBesallL . 20 &{serses, C- a1 uEmsalL @M. 20 Goparsad

AmHsmed B-ai LEE aalaiana) ?

[A] ®. 10 [B] (. 15

[C] (. 20 [D] 5 25

196. If the sum of two numbers is 24 and their product is 108, then find

the sum of their reciprocals ?

[A] 2/9 [B] 3/7

[C] 5/7 [D] 9/2
Qm aarseller m@zed 24 wppd SJapflar Aumsss 108 aeafld jeibaueisaflear
saadflseflar apssd snairs ?

[A] 2/9 [B] 3/7

[C] 5/7 [D] 9/ 2

www.mntfreeias.com
118 of 120



www.mntfreeias.com

197. Find the rate percent per annum when a principal of Rs. 5000 /-
earns a S.I of Rs. 1600 in 16 months ?

[A] 20 % [B] 22 %
[C] 18 % [D] 24 %
G 5000 Hsqué@ 16 wrsmseald @ 1600 safllaly Hardsmd, aly ciglssmss

TGRS ?

[A] 20 % [B] 22 %

[C] 18 % [D] 24 %

198. The population of a village has a constant growth of 4 % every
year. If its present population is 32448. What was the population

two years ago ?

[A] 31424 [B] 28868

[C] 30000 [D] 31242

@® alymosgler wéser Astans @Cr &yms gellan® yar@n 4 % s OanaiCL
Qeaglpg. QUAUNE IFer wisaT Cgrans 32448 aafld Qrai® <y TOSEHEES
Weir WE&ACGINS TataauTs QHHSMEGL ?

[A] 31424 [B] 28868

[C] 30000 [D] 31242
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199. The area of a quadrilateral is 525 sq.m. The perpendiculars from
two vertices to the diagonal are 15 m and 20 m. What is the length

of this diagonal ?

[A] 25 m [B] 30 m

[C] 35m [D] 45 m

@® Brpsrdglear upliuere) 525 & 15. g Q@ cFflsalldlmis paeallLizlne
aaruiupn Cstgsslea farmsd 15 15, 20 18 aafld gaaalllLsslea fa@uerer ?

[A] 25 5. [B] 30 1.

[eI=3505 [D] 45 5.

200. A wire can form a square of area 36 sq. cm. What is the area of

rectangle when the same wire forms a rectangle in which one side

is2cm?
[A] 12 cm? [B] 18 cm?
[C] 20 cm? [D] 24 cm?

@ sbllurery sy auaimy omaNEgL Curws se LFliudae 36 &0s.5.
965 sulows Qama®) 2 Oz @m uss I caLu @@ Osdassimg

2 Hauns@wung sCeeiaussglem Lrliuaey aerer?
[A] 12 &0Qs.5. [B] 18 &.08&.5.

[C] 20 &0s.5. [D] 24 5045
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